
Kalam Scholarship & Admission Test 2021

Exam Date
th10   October 2021

Foundation Batch 2021

thBatch Starts From 17  October 2021

thResult Date : 12  October 2021

100% Scholarship + 

Rs 51000 
+ Medal

st

R A N K

Registration Starts From 
th th

9  September to 5  October 2021

nd
2  Rank  

rd th
3 -5  Rank 

th th
6 -10  Rank 

th st
11 -21  Rank 

nd th
22 -50  Rank

100% Scholarship + Rs 21000 + Medal

100% Scholarship + Rs 11000 + Medal

100% Scholarship + Rs 5000 + Medal

50% Scholarship + Medal

33% Scholarship + Medal

www.kalam.academy

(नकद परु�कार व छा�वृ�त अ�यथ� के को�चगं स�ंान म � �वशे लने ेपर ही देय ह�ग।े)



1. Roll
No./

No. of pages in Question Booklet/

*** 2. Candidate’s Name / *** 3. Candidate’s Signature /

*** As given in Application Form /

Invigilator’s Singnature /

There are 150 objective multiple choice questions in this paper. This Question Booklet is made up of the
following four Sections. Section - I, II & III of 30-30 questions each and section IV is of 60 questions. The
candidate has to attempt all sections. Each question is of one mark. There is no negative marking for wrong
answer.

150
I, II  III 30-30 IV 1

Section Contents  No. of  Question Nos.  Page Nos.
Questions From To From  To

(I) Child Development and Pedagogy 30 01 30  3  10

(II)      30 31 60

(III)    30  61 90  

 30  61 90  35 38
 30  61 90  39 43

 30  61 90  44 47    
 30  61 90  48 51    

 30  61 90  52 55    
 30  61 90  56 60

(IV) Mathematics and Science 60  91 150  61 79

Language-I  (Only One Language)
As Selected by the candidate as medium of
instruction in the Online Application Form
as Language-1 from the Languages given 
below :

Hindi  
English  

Sanskrit
Urdu

Punjabi
Gujarati

Language-II (Only One Language)
As Selected by the candidate as Language-II 
(Other than the Language-I) in the Online 
Application Form from the Languages given 
below :

Hindi  
English  

Sanskrit
Urdu

Punjabi
Gujarati

 30  31 60  11 14
 30  31 60  15 18
 30  31 60  19 22
 30  31 60  23 26
 30  31 60  27 30
 30  31 60  31 34        

Series

Code : PAPER CODE : ST2-2021

PAPER CODE : ST2-2021
Time Period : 2:30 HoursTotal Questions : 150 Maximum Marks : 150

Note : In Sections II and III, a candidate has to attempt the questions of Languages compulsorily, selected as Language-I and

Language-II in the Online Application Form. For Hindi version of the above Table & Note refer to Page No. 2.

Head Office :

Nawalgarh Road, Sikar (Raj.)

Call @ 7240012121

B

 ACADEMYRAS ACADEMY

https://www.print-driver.com/?demolabel-en


(2)ST-2 B

P.T.O.

Head Office :

Nawalgarh Road, Sikar (Raj.)

Call @ 7240012121
 ACADEMYRAS ACADEMY

(I) 30  01 30  3 10   

(II) I

I

30  31 60  11 14

30  31 60  15 18

30  31 60  19 22

30  31 60  23 26

30  31 60  27 30

30  31 60  31 34

(III) II 30  61 90

II I

30  61 90  35 38

30  61 90  39 43

30  61 90  44 47

30  61 90  48 51

30  61 90  52 55

30  61 90  56 60

(IV) 60  91 150  61 79

2 - 2021

30 31 60

150 150

II III -I -II

https://www.print-driver.com/?demolabel-en


(3)ST-2 B

P.T.O.

SECTION - I

- I

CHILD DEVELOPMENT AND PEDAGOGY

There are 30 questions all in this section.

All questions are compulsory.

1. According to Bandura, observational learning involves various processes and follows a sequence. Which

of the following sequence is the correct one ?

1. Attention Process 2. Memory/Retention

3. Imitation/Production 4. Motivation

Code -

(A) 1, 2, 3, 4 (B) 2, 1, 3, 4

(C) 3, 1, 2, 4 (D) 4, 3, 2, 1

(A) (B) 

(C) (D) 

2. As per the RTE 2009, which of the following is not a responsibility of a teacher?

(A) Regular attendence in the school

(B) Complete the entire course within the specified time

(C) Regular meetings with parents and guardians to inform them about child's progress

(D) Determination and preparation of syllabus

(A) 

(B) 

(C) 

(D)
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3. Which of the following statement is incorrect with respect to the principles of development?

(A) Development is caused by continuous interaction between heredity and environment

(B) Development is based on maturity and learning

(C) Development is only quantitative process which can be measured

(D) Every child goes through all stages of development, yet there may be individual differences

(A) 

(B) 

(C) 

(D) 

4. Which of the following is not a characteristic of later childhood?

(A) At this stage the child is endowed with all the necessary mental powers but his vocabulary is limited

(B) It is a time of physical and mental instability in which the child wanders in the imaginary world

(C) The tendency of discovering new things and wandering increases considerably in this stage

(D) This stage is also known as play age

(A) 

(B) 

(C) 

(D) 

5. With which statement do you disagree in the context of National Curriculum Framework 2005 (NCF-2005)?

(A) Student create knowledge with help of their experiences

(B) The creative perspective indicates that every student makes sense personally and socially

(C) The knowledge required to do creative or complex work lies in the circumstances

(D) The process of creative learning revolves around a teacher and he/she plays the central role in it

 (NCF-2005)

(A) 

(B) 

(C) 

(D)
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6. Which of the following is not related to Action Research?

(A) It helps in eliminating the conservative environment prevailing in the school

(B) Its scope is broad and it compiles information for taking decisions on a large scale

(C) It emphasizes on open changes in the objectives and its system

(D) Participants study, direct, improve and evaluate their problems in a scientific manner.

(A)

(B)

(C)

(D)

7. In which academic session was the learning outcomes included in Rajasthan with determined criteria?

(A) 2015-16 (B) 2017-18

(C) 2018-19 (D) 2019-20

(A) 2015-16 (B) 2017-18

(C) 2018-19 (D) 2019-20

8. Intelligence can be defined as-

1. Perception ability 2. Ability to learn

3. Ability to understand 4. Ability to know

Code -

(A) Only 2 and 4 (B) Only 2, 3 and 4

(C) Only 1, 3 and 4 (D) 1, 2, 3 and 4

(A) (B) 

(C) (D) 

9. A procedure that establishes a sequence of response which lead to a reward following final response and

then working backwards is called-

(A) Shaping (B) Stimulus Control

(C) Chaining (D) Stimulus Generalization

(A) (B) 

(C) (D) 
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10. Match List 1 with List 2

 List-1 (Concept) List-2 (Psychologist)

A. Mental Age 1. Stern

B. Intelligence Quotient 2. Binet

C. Mental Test 3. Spearman

D. Tetrad Equation 4. J.M. Cattell

A B C D

(A) 1 2 3 4

(B) 2 1 4 3

(C) 3 2 1 4

(D) 4 3 2 1

A. 1. 

B. 2.

C. 3. 

D. 4. 

A B C D

(A) 1 2 3 4

(B) 2 1 4 3

(C) 3 2 1 4

(D) 4 3 2 1

11. Motivation is best understood as a state that -

(A) Reduces a drive (B) Aims at satisfying a biological need

(C) Energises an organism to act (D) Energises and directs behaviour

(A) (B) 

(C) (D) 

12. According to freud, negativism as menifested by defiance of parental orders is most pronounced during

the stage -

(A) Anal (B) Genital

(C) Oral (D) Phallic

(A) (B) 

(C) (D) 

https://www.print-driver.com/?demolabel-en


(7)ST-2 B

P.T.O.

13. According to Piaget, what is the correct order of emergence of following abilities -

1. Concentration 2. Propositional Thinking

3. Egocentric Behaviour 4. Mental respresentation of reality.

(A) 4, 2, 3, 1 (B) 4, 1, 3, 2

(C) 1, 3, 4, 2 (D) 1, 4, 3, 2

(A) 4, 2, 3, 1 (B) 4, 1, 3, 2

(C) 1, 3, 4, 2 (D) 1, 4, 3, 2

14. Correct set of personality traits according to G.W. Allport -

(A) Cardinal, Central and Secondary (B) Primary, Cardinal and Central

(C) Central, Peripheral and Dominant (D) Primary, Secondary and Central

(A) (B) 

(C) (D) 

15. Which of the following is related to Inductive reasoning -

(A) Ability to think ahead

(B) Drawing conclusions from several obsevations

(C) Inference drawn from one particular to another particular

(D) Evaluating that whether a conclusion can be drawn from two statements

(A) 

(B) 

(C) 

(D) 

16. A boy wants to attend wedding ceremony of a friend in night. At the same time he also wants to go for

shopping with his parents. This kind of conflict can be termed as-

(A) Approach-Approach Conflict (B) Avoidance-Avoidance Conflict

(C) Approach-Avoidance Conflict (D) Multi approach-Avoidance Conflict

(A) (B) 

(C) (D) 
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17. Which one of the following is not a characteristic of Assessment.

(A) It is related to cognitive domain only (B) Assessment is the collection of informations

(C) It is a continuous process (D) Its form is corrective

(A) (B) 

(C) (D) 

18. Which of the following is/are correct with respect to individual differences.

(A) Differences in the intelligence level (B) Difference in Achievement

(C) Difference in Motor ability (D) All of the above

(A) (B) 

(C) (D) 

19. Which one of the following laws of heredity is associated with Sorenson.

(A) Like bigets like (B) Law of variation

(C) Law of Regression (D) Law of biometry

(A) 

(B) 

(C) 

(D) 

20. A person rattels the box of dog’s biscuits before giving the biscuit to dog. As the person rattles the box

the dog begins to salivate. Thus rattling of box is______ ; and the salivation of dog is a kind of_____.

(A) CS; CR (B) CS; UCR

(C) UCS; CR (D) UCS, UCR

(A) CS; CR (B) CS; UCR

(C) UCS; CR (D) UCS, UCR

21. Linguistic development mainly depends upon-

(A) Motivation (B) Conditioning

(C) Imitation (D) All of these

(A) (B) 

(C) (D) 
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22. Which of the following is incorrect-

(A) Thinking is cognitive process

(B) Problem is a condition for which a person has already prepared a remedy

(C) There is no exclusive difference in steps of problem solving and creative thinking

(D) Difference in level of creativity can be found in persons having same IQ

(A) 

(B) 

(C) 

(D) 

23. Which of the following concept is not related to constructivist approach ?

(A) Explore (B) Explain

(C) Excitement (D) Evaluate

(A) (B) 

(C) (D) 

24. Which of the following should be given more importance while identifying a gifted child.

(A) Decision of teacher (B) Profession chosen for livelihood

(C) Background of the family of child (D) Objective test

(A) (B) 

(C) (D) 

25. Which of the following characteristic is significantly related to dyslexia instead of ADHD.

(A) Changing position of letters in words (B) Inability to hear

(C) No uniformity in work (D) Lack of concentration

ADHD

(A) (B) 

(C) (D) 

26. Which of the following is not a characteristic of mentally retarded children ?

(A) IQ ranges between 25-70 (B) They are completely uneducable

(C) Abnormal and uncontrolled mental operation (D) Intellectual impairment

(A) (B) 

(C) (D) 
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27. Which of the following reinforcement is related to positive punishment -

(A) An unpleasant stimulus is presented to decrease behaviour

(B) An unpleasant stimulus is removed to increase behaviour

(C) A pleasant stimulus is presented to increase behaviour

(D) A pleasant stimulus is removed to decrease behaviour

(A) 

(B) 

(C) 

(D) 

28. Which of the following is not a characteristic of learning -

(A) Learning is change in behaviour

(B) Learning is change in human attributes and capability

(C) Learning is change in those abilities and attributes which are result of maturation

(D) Learning is a change in an individual due to change in his environment

(A) 

(B) 

(C) 

(D) 

29. Which of the following is level of moral development according to Kohlberg

(A) Stage of cognitive thinking (B) Post conventional morality

(C) Sensory motor stage (D) Moral development of retributive justice

(A) (B) 

(C) (D) 

30. The element of learning like concept formation and problem solving is given by-

(A) Cognitivists (B) Behaviourists

(C) Symbolists (D) None of the above

(A) (B) 

(C) (D) 
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- II

- I

31.

(A) (B) 

(C) (D) 

32.

(A) (B) 

(C) (D) 

33.

(A) (B) 

(C) (D) 

34.

(A) (B) 

(C) (D) 

35.

(A) (B) 

(C) (D) 
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36.

(A) (B) 

(C) (D) 

37.

(A) (B) 

(C) (D) 

38.

(A) (B) 

(C) (D) 

39.

(A) (B) 

(C) (D) 

40.

(A) (B) 

(C) (D) 

41.

(A) (B) 

(C) (D) 

42.

(A) (B) 

(C) o (D) ^
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43.

(A) (B) 

(C) (D) 

44.

(A) (B) 

(C) (D) 

45.

(A) (B) 

(C) (D) 

46.

(A) (B) 

(C) (D) 

47.

(A) (B) 

(C) (D) 

48.

(A) (B) 

(C) (D) 

49.

1. i. 

2. ii. 

3. iii. 

4. iv. 

1 2 3 4

(A) ii iv iii i

(B) iv i ii iii

(C) i ii iii iv

(D) iii iv ii i

50.

(A) (B) 

(C) (D) 

https://www.print-driver.com/?demolabel-en


(14)ST-2 B

P.T.O.

51.

(A) (B) 

(C) (D) 

52.

(A) (B) 

(C) (D) 

53.

(A) (B) 

(C) (D) 

54.

(A) (B) 

(C) (D) 

55.

(A) (B) 

(C) (D) 

56.

(A) (B) 

(C) (D) 

57.

(A) 

(B) 

(C) 

(D) 

58.

(A) (B) 

(C) (D) 

59.

(A) (B) 

(C) (D) 

60.

(A) 

(B) 

(C) 

(D)
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SECTION-II

LANGUAGE - I

ENGLISH

There are 30 questions all in this section.

All questions are compulsory.

Direction (31-35) : Read the passage carefully and answer the questions given below:

Speed is the hallmark of modern civilization. In this world of cut throat competition, he sets endless

aims. But, success always results from steady pursuit of aim. The work done by fits and starts leads one

nowhere. At a rule, for the proper execution of work, both constancy and steadiness are necessary. A

diligent person is not discouraged by difficulties. He continues to march towards his goal of life. Thus,

he steals a march on a person, who believes that success is sudden and effortless. The haphazard manner

of spending hours on one’s project may not yield satisfactory results. A persistent man keeps his head

cool and achieves his goal steadily. Thus, to be successful, one must move on and on steadily though

slowly. In fact, persistence is a key to success.

31. Which out of the following is the synonym of the word “Random”?

(A) Methodical (B) Systematic

(C) Organized (D) Haphazard

32. Which out of the following is the antonym of the word “Indolence”?

(A) Discouraged (B) Persistence

(C) Energetic (D) Satisfactory

33. Which is the correctly spelt word?

(A) Gyneacologist (B) Gynecologist

(C) Gyenecologist (D) Gynaecologist

34. A person who is appointed by two parties to solve a dispute. Give one word-

(A) Arbitrator (B) Ascetic

(C) Convalescent (D) Ambidexterous

35. A persistent man keeps his head cool and achieves his goal steadily.  Identify the underlined word-

(A) Adjective (B) Adverb

(C) Noun (D) Verb
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36. She said, “Where were you yesterday?”

Which out of the following is the correct Indirect speech?

(A) She asked (me) where I had been the previous day.

(B) She asked (me) where had I been the following day.

(C) She asked (me) that where I was the previous day.

(D) She inquired of me where was I the previous day.

37. They played a friendly match yesterday.

Identify the underlined-

(A) Noun (B) Adjective

(C) Adverb (D) Verb

38. Maria was cooking rice in the kitchen.

Which is the correct passive voice of the given sentence?

(A) Maria was being cooked rice in the kitchen. (B) Rice are being cooked in the kitchen by Maria.

(C) Rice were being cooked by Maria in the kitchen. (D) Rice was being cooked by Maria in the kitchen.

39. Birbal was……..than  Akbar.

Supply the appropriate degree of adjective.

(A) wiser (B) more wiser

(C) more wise (D) the more wise

40. Kashmir is……………between India and Pakistan.

(A) an apple of eye (B) an apple of discord

(C) an apple of fight (D) None of the above

41. You can park the car on…….side of the road.

(A) either (B) none

(C) both (D) neither

42. Choose the correct tense of the underlined verb phrase:

Vinita said that she had been waiting for me for two hours when I arrived.

(A) Simple past (B) Past perfect continuous

(C) Past perfect (D) Present perfect continuous

43. She is going to Delhi now…….

Use the correct question tag.

(A) is she? (B) was she?

(C) haven’t she? (D) isn’t she?
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44. “I ran  fast.”

Tense of the above sentence has been correctly changed into present continuous in:

(A) I have been running fast . (B) I am running fast.

(C) I had been running fast. (D) I was running fast.

45. Which part of speech is the underlined word in the sentence given below?

“Some people seem to have a good attitude towards most things.”

(A) Adverb (B) Preposition

(C) Adjective (D) Conjunction

46. Which of the following helps in learning the second language without using the printed text?

(A) Translation cum Grammar method (B) Situational approach

(C) Natural approach (D) Language immersion

47. Why is story telling most important in English language class at primary level?

(A) It develops moral values among the students. (B) It improves students’ vocabulary.

(C) It creates fun in the class. (D) It is useful for developing integrated language skills.

48. While writing, storing skills

(A) mapping (B) summarising

(C) reducing a passage length (D) expanding an idea

49. Which pair of words have the same sound ending?

(A) rice and rise (B) here and where

(C) copy and apostrophe (D) bear and beer

50. The structured interpretation and giving of meaning to predicted or actual impacts of results is called-

(A) Summation (B) Range

(C) Coverage (D) Evaluation

51. Audio-visual aids are used in classrooms to-

(A) discourage teaching learning process.

(B) encourage teaching learning process.

(C) minimize the interest in teaching learning process.

(D) All of the above.
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52. Which out of the following is correct in the reference to the structural approach?

(A) Structural approach is a technique wherein the learner masters the pattern of sense.

(B) Structures are the different arrangements of words in one accepted style or the other.

(C) Structural approach includes various modes in which words, phrases and clauses might be used.

(D) All of the above.

53. There are four different kinds of reading

(A) pleasure, information, details, skimming (B) searching, discovering, scanning, extensive

(C) skimming, scanning, extensive and intensive (D) skimming, scanning, discovering, searching

54. Grammar is taught inductively in-

(A) Translation cum Grammar method (B) Direct method

(C) Audio- lingual method (D) Bilingual method

55. Which is called Berlitz method?

(A) Direct method (B) Audio-lingual method

(C) Grammar-translation method (D) Bilingual method

56. A text-book-

(A) provides reading material

(B) has specific graded vocabulary

(C) occupies an important role in Grammar translation method

(D) All of the above

57. The correct phonetic transcription of the word “Massage” is-

(A) /mæsa:z/ (B) /m sa:z/

(C) /mæsa:Z / (D) /ma:sa:z/

58. A phoneme is-

(A) the minimal distinctive unit in the sound system of a language

(B) the science of word structure

(C) the science of syntax

(D) the use of different registers

59. The sound which is produced without friction is called a-

(A) vowel (B) consonant

(C) voiced (D) none of the above

60. Thematic

Identify the underlined sound.

(A) /I/ (B) /I:/

(C) /e/ (D) / /
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- II

- I

31.

(A) (B) 

(C) (D) 

32.

(A) (B) 

(C) (D) 

33.

(A) (B) 

(C) (D) 

34.

(A) (B) 

(C) (D) 

35.

(A) (B) 

(C) (D) 
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36.

(A) (B) 

(C) (D) 

37.

(A) (B) 

(C) (D) 

38.

(A) (B) 

(C) (D) 

39.

(A) (B) 

(C) (D) 

40.

(A) (B) 

(C) (D) 

41.

(A) (B) 

(C) (D) 

42.

(A) (B) 

(C) (D) 

43.

(A) (B) 

(C) (D) 
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44.

(A) (B) 

(C) (D) 

45.

(A) (B) 

(C) (D) 

46.

(A) (B) 

(C) (D) 

47.

(A) (B) 

(C) (D) 

48.

(A) (B) 

(C) (D) 

49.

(A) (B) 

(C) (D) 

50.

(A) (B) 

(C) (D) 

51.

(A) (B) 

(C) (D) 

52.

(A) (B) 

(C) (D) 
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53.

(A) (B) 

(C) (D) 

54.

(A) (B) 

(C) (D) 

55.

(A) (B) 

(C) (D) 

56.

(A) (B) 

(C) (D) 

57.

(A) (B) 

(C) (D) 

58.

(A) (B) 

(C) (D) 

59.

(A) (B) 

(C) (D) 

60.

(A) (B) 

(C) (D) 
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ਖੰਡ-II 
ਭਾਸ਼ਾ- I 
ਪੰਜਾਬੀ 

ਇਸ ਖੰਡ ਵ ਿੱ ਚ ਕੁਲ 30 ਪਰਸ਼ਨ ਹਨ l 
ਸਾਰ੃ ਪਰਸ਼ਨ ਜਰੂਰੀ ਹਨ l 

31. ਩ੰਜਾਫੀ ਵਿਸ਼੃ ਦਾ ਅਵਧਆ਩ਕ ਆ਩ਣ੃ ਵਿਸ਼੃ ਦਾ ਭਾਵਿਯ ਅਤ੃ ਵਭਿਨਤੀ ਿ੅ਣ ਦ੃ ਨਾਰ-ਨਾਰ ਿ੅ਣਾ ਚਾਿੀਦਾ ਿ੄ -
(A) ਫਿੁਤ ਵਜਆਦਾ ਕਠੋਯ (B) ਫਿੁਤ ਵਜਆਦਾ ਉਦਾਯ
(C) ਸੁਵਿਯਦ ਅਤ੃ ਸਭਝਦਾਯ (D) ਿਿਭਾਂ ਤ੃ ਪਵਸਆ ਿ੅ਇਆ
32. ਵਿਅੰਜਨ ਦ੃ ਦ੅ਿਯ੃ ਉਚਾਯਨ ਰਈ ਕੀ ਿਯਵਤਆ ਜਾਂਦਾ ਿ੄-
(A) ਵਫੰਦੀ (B) ਵ ਿੱ ਩ੀ
(C) ਅਿੱ ਧਕ (D) ਵਸਿਾਯੀ
33. ਯਾਜਸਥਾਨ ਸਯਕਾਯ ਦੁਆਯਾ ਕ੅ਯ੅ਨਾ ਦ੃ ਰਾਕਡਾਉਨ ਕਾਰ ਵਿਿੱਚ ਸਕੂਰੀ ਫਿੱ ਵਚਆਂ ਦੀ ਵਸਿੱ ਵਖਆ ਰਈ ਚਰਾ਋ ਜਾ ਯਿ੃
‘ਸਭਾਈਰ ਩ਰ੅ਗਯਾਭ’ ਦ੃ ਤਵਿਤ ਵਕਿੜ੃ ਸਿਾਇਕ ਸਾਧਨ ਦੀ ਭੁਿੱ ਖ ਤ੅ਯ ਤ੃ ਿਯਤੋਂ ਕੀਤੀ ਜਾ ਯਿੀ ਿ੄-

(A) ਰ੄਩ ੅਩ (B) ਸਭਾਯ  ਪ੅ਨ
(C) ਕੰਵ਩ਊ ਯ (D) ਸਕੂਰ ਦੀ ਜਭਾਤ
34. ਗੁਯਭੁਖੀ ਵਰ਩ੀ ਵਿਿੱਚ ਕੁਿੱ ਰ ਵਰ਩ਾਂਕ ਵਕੰਨੇ ਿਨ ?
(A) 56 (B) 42
(C) 65 (D) 48
35. ਩ਯਨੀਤ ਨੇ ਵਿਆਕਯਨ ਦੀ ਵਕਤਾਫ ਵਰਖੀ ਅਤ੃ ਭਾਡਰ ਩੃਩ਯ ਿੀ ਫਣਾ਋ l ਿਾਕ ਦਾ ਩ਰਕਾਯ ਿ੄
(A) ਸਧਾਯਨ (B) ਸੰਮੁਕਤ
(C) ਵਭਸ਼ਯਤ (D) ਗੁੰ ਝਰਦਾਯ
36. ਗੋਂਗਰੂੰ ਆਂ ਤੋਂ ਵਭਿੱ  ੀ ਝਾੜਣਾ’ ਭੁਿਾਿਯ੃ ਦਾ ਅਯਥ ਿ੄
(A) ਵਭਿਨਤੀ ਿ੅ਣਾ (B) ਸਭਾ ਗੁਜਾਯਨਾ
(C) ਫਾਿਯੋਂ ਸਿੱ ਵਚਆਂ ਿ੅ਣਾ (D) ਖ੃ਤੀ ਕਯਨਾ
37. ਵਿਸਭਾਦ ਨਾਦ ਵਿਸਭਾਦ ਿ੃ਦ ।। ਵਿਸਭਾਦ ਜੀਅ ਵਿਸਭਾਦ ਬ੃ਦ ।।
ਵਿਸਭਾਦ ਯੂ਩ ਵਿਸਭਾਦ ਯੰਗ ।। ਵਿਸਭਾਦ ਨਾਗ੃ ਵਪਯਵਿ ਜੰਤ ।। ਤੁਕਾਂ ਵਿਚ ਵਕਿੜਾ ਯਸ ਿ੄ ?
(A) ਵ ੰਗਾਯ (B) ਿੀਯ
(C) ਫੀਬਤਸ (D) ਅਦਬੁਤ
38. ‘ ਵਿਰੀਆ’ ਦਾ ਸਭਾਨਾਯਥੀ ਿ੄
(A) ਸਾਥੀ (B) ਸ਼ੁਯੁਆਤ
(C) ਅਵਧਕਾਯ (D) ਸ੃ਿਾਦਾਯ
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39. ਸਫਦਾਂ ਦ੃ ਉਸ ਇਕਿੱਠ ਨੰੂ, ਵਜਸ ਤੋਂ ਵਕਸ੃ ਗਿੱ ਰ ਦੀ ਠੀਕ ਸਭਝ ਆ ਜਾਿ੃, ਉਸ ਨੰੂ ਵਕਿਾ ਜਾਂਦਾ ਿ੄-
(A) ਿਾਕ (B) ਫਦ
(C) ਧੁਨੀ (D) ਿਾਕ ਫ੅ਧ
40. ਸੀ ਸੀ ਈ ਵਿਿੱਚ ਵਕੰਨੇ ਭੁਖ਼ ਤਿੱ ਤ ਿਨ
(A) ਇਿੱਕ (B) ਦ੅   
(C) ਵਤੰਨ        (D) ਚਾਯ
ਹ੃ਠ ਵਲਖ੃ ਪ੄ਰਹ੃ ਨੰੂ ਪੜ੍ਹ ਕ੃ ਹ੃ਠਾਂ ਵ ਿੱ ਤ੃ ਪ੄ਰਹ੃ ਨੰੂ ਪੜ੍ਹ ਕ੃ ਪਰਸ਼ਨਾਂ (41- 45 ਤਿੱ ਕ)  ੃ ਉੱਤਰ ਢੁਿੱ ਕ ੇਂ ਵ ਕਲਪਾਂ ਰਾਹੀਂ ਵ ਓ:

ਧਯਤੀ ਭਾਤਾ ਨੰੂ ਧਯਨੀ ਦ੃ਿੀ ਿੀ ਕਵਿੰਦ੃ ਿਨ, ਇਸਦੀ ਩ੂਜਾ ਩ੂਯਿ-ਇਵਤਿਾਵਸਕ ਕਾਰ ਤੋਂ ਩ਰਚਵਰਤ 
ਿ੄। ਧਯਤੀ ਵਸਯ੝ ਅੰਨ-ਦਾਤਾ ਤ੃ ਪਰਦਾਤਾ ਿੀ ਨਿੀਂ, ਧਯਤੀ ਉੱ਩ਯ ਿਸਦ੃ ਸਬ ਩ਰਾਣੀਆਂ ਤ੃ ਫਨਸ਩ਤੀ ਦੀ ਯਿੱ ਵਖਅਕ ਤ੃ 
਩ਾਰਕ ਿੀ ਿ੄। ਧਯਨੀ ਦ੃ਿੀ ਬੂਭੀ ਦ੃ ਯੂ਩ ਵਿਚ ਿਯ ਥਾਂ ਵਿਆ਩ਕ ਿ੄, ਉਸਨੰੂ ਛੂਿ ਕ੃ ਩ੂਵਜਆ ਜਾ ਸਕਦਾ ਿ੄। ਇਸ ਰਈ 
ਧਯਤੀ ਦੀ ਕ੅ਈ ਭੜੀ ਜਾਂ ਅਸਥਾਨ ਨਿੀਂ ਵਸਯਵਜਆ ਜਾਂਦਾ ਤ੃ ਨਾ ਇਸਦੀ ਕ੅ਈ ਭੂਯਤੀ ਫਣਾਈ ਜਾਂਦੀ ਿ੄। ਵਪਯ ਿੀ ਕਈ 
ਵ਩ੰਡਾਂ ਵਿਚ ਵਕਸ੃ ਩ਵਿਿੱ ਤਯ ਦਯਿੱ ਖ਼ਤ ਿ੃ਠਾਂ ਩ਿੱ ਥਯਾਂ ਗੀਵ ਆਂ ਜਾਂ ਠੀਕਯੀਆਂ ਦੀ ਢ੃ਯੀ ਵਜਿੀ ਿ੃ਖਣ ਨੰੂ ਵਭਰਦੀ ਿ੄। ਰ੅ਕੀ 
ਇਿੱ ਥ੃ ਿੀ ਧਯਨੀ ਦ੃ਿੀ ਦੀਆਂ ਸੁਿੱ ਖਣਾ ਸੁਿੱ ਖ ਦ੃ ਤ੃ ਦੁਿੱ ਧ, ਪਰ ਤ੃ ਅੰਨ ਬ੃  ਕਯਦ੃ ਿਨ। ਇਿੱ ਥ੃ ਿੀ ਧਯਨੀ ਨਵਭਤ ਵਘਉ ਦ੃ 
ਦੀਿ੃ ਫਾਰ੃  ਜਾਂਦ੃ ਿਨ। ਦੁਿੱ ਧ ਚ੅ਣ ਿ੃ਰ੃  ਩ਵਿਰੀਆਂ ਕੁਝ ਧਾਯਾਂ ਧਯਤੀ ਭਾਤਾ ਨੰੂ ਬ੃  ਕੀਤੀਆਂ ਜਾਂਦੀਆਂ ਿਨ। ਿਰ ਿਾਿੁਣ 
ਤ੃ ਫੀਜ ਫੀਜਣ ਿ੃ਰ੃ ਧਯਤੀ ਩ੂਜੀ ਜਾਂਦੀ ਿ੄। ਇਸ ਭ੆ਕ੃ ਉੱਤ੃ ਗੁੜ ਦੀ ਬ੃ਰੀ ਜਾਂ ਕੁਝ ਕ੆ੜੀਆਂ ਧਯਤੀ ਨੰੂ ਬ੃  ਕੀਤੀਆ ਂ
ਜਾਂਦੀਆਂ ਿਨ। ੝ਸਰ ਦੀ ਿਾਢੀ ਿ੃ਰ੃ ਕੁਝ ਕੁ ਫੂ ੃ ਧਯਨੀ ਦ੃ਿੀ ਦੀ ਬ੃ ਾ ਿਜ੅ ਛਿੱ ਡ ਵਦਿੱ ਤ੃ ਜਾਂਦ੃ ਿਨ। ਇਸ੃ ਤਯਹਾਂ ਨਿੇਂ 
ਭਕਾਨ ਦੀ ਨੀਂਿ ਯਿੱ ਖਣ ਰਿੱ  ਵਗਆਂ ਩ਵਿਰਾਂ ਨਾਯੀਅਰ, ਸੰਧੂਯ, ਚਾਂਦੀ ਦ੃ ਵਸਿੱ ਕ੃, ਭ੅ਤੀ, ਘ੅ਗ੃ ਤ੃ ਕ੆ਡੀਆਂ ਆਵਦ ਭ੆ਰੀ ਦ੃ ਧਾਗ੃ 
ਵਿਚ ਩ਯ੅ ਕ੃ ਧਯਨੀ ਭਾਈ ਦੀ ਬ੃  ਚੜਹਾ਋ ਜਾਂਦ੃ ਿਨ । ਵਕਯਸਾਨ, ਦੁਕਾਨਦਾਯ, ਿ਩ਾਯੀ ਅਤ੃ ਆਜੜੀ  ਆਵਦ ਿੀ ਧਯਤੀ 
ਭਾਂ ਦੀ ਩ੂਜਾ ਕਯਦ੃ ਿਨl  ਸੰਕ  ਿ੃ਰ੃ ਔਯਤਾਂ ਧਯਤੀ ਭਾਂ ਨੰੂ ਯਿੱ ਵਖਆ ਰਈ ਦੁਿਾਈ ਵਦੰਦੀਆਂ ਿਨ। ਧਾਯਨਾ ਿ੄ ਵਕ ਸਵਤ ਦੀ 
਩ਤ ਧਯਤੀ ਯਿੱ ਖਦੀ ਿ੄। 
41. ਩੄ਯਹ੃  ਵਿਿੱ ਚ ਆ਋ ‘਩ਤ’ ਸ਼ਫਦ ਦਾ ਅਯਥ ਿ੄
(A) ਇਿੱਛਾ (B) ਇਿੱਜ਼ਤ
(C) ਵਜਿੱਤ (D) ਿਾਯ
42. ਸੰਕ  ਿ੃ਰ੃ ਧਯਤੀ ਭਾਂ ਨੰੂ ਯਿੱ ਵਖਆ ਰਈ ਕ੅ਣ ਦੁਿਾਈ ਦੇਂਦਾ ਿ੄
(A) ਦੁਕਾਨਦਾਯ (B) ਭਯਦ
(C) ਿ਩ਾਯੀ (D) ਔਯਤਾਂ
43. ਉ਩ਯ੅ਕਤ ਩੄ਯਹ੃ ਦਾ ਢੁਿੱ ਕਿਾਂ ਵਸਯਰ੃ਖ ਚੁਣ੅
(A) ਧਯਤੀ ਨਾਰ ਆਦਾਨ-਩ਰਦਾਨ (B) ਫਨਸ਩ਤੀ ਨਾਰ ਵਖਰਿਾੜ
(C) ਉ਩ਯ੅ਕਤ ਦ੅ਿੇਂ (D) ਧਯਤੀ ਦੀ ਿਵਡਆਈ
44. ਿਰ ਿਾਿੁਣ ਜਾਂ ਫੀਜ ਫੀਜਣ ਸਭੇਂ ਧਯਤੀ ਦੀ ਩ੂਜਾ ਵਕਿੇਂ ਕੀਤੀ ਜਾਂਦੀ ਿ੄
(A) ਨਾਯੀਅਰ, ਸੰਧੂਯ, ਚਾਂਦੀ ਵਸਿੱ ਕ੃, ਭ੅ਤੀ, ਘ੅ਗ੃, ਕ੆ਡੀਆਂ ਦ੃ ਕ੃ (B) ਗੁੜ ਦੀ ਬ੃ਰੀ ਜਾਂ ਕੁਿੱ ਝ ਯ੅ੜੀਆਂ ਨਾਰ
(C) ਭ੆ਰੀ ਦ੃ ਧਾਗ੃ ਨਾਰ ਬੇਂ  ਕਯ ਕ੃ (D) ਦੁਿੱ ਧ ਦੀਆਂ ਧਾਯਾਂ ਭਾਯ ਕ੃
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45. ਩੄ਯਹ੃  ਵਿਿੱ ਚ ਆ਋ ‘ਆਜੜੀ’ ਸ਼ਫਦ ਦਾ ਅਯਥ ਿ੄
(A) ਿੀਯ੃ ਜਿਾਿਯਾਤ ਦਾ ਕੰਭ ਕਯਨ ਿਾਰਾ (B) ਫਿੁਤ ਵਦਰ ਅਜੀਜ ਤ੃ ਇਿੱ ਜ਼ਤ ਆਫਯੂ ਿਾਰਾ
(C) ਬ੃ਡਾਂ, ਫਕਯੀਆਂ ਜਾਂ ਊਂਠ ਚਾਯਾਂ ਿਾਰਾ (D) ਸਯਕਾਯੀ ਕਯਭਚਾਯੀ
46. ‘ਧਯਤੀ’ ਸ਼ਫਦ ਦਾ ਵਿ਩ਯੀਤ ਵਰੰਗ -
(A) ਚੰਨ (B) ਸੂਯਜ
(C) ਅਕਾਸ਼ (D) ਿੁੰ ਦਾ ਿੀ ਨਿੀ
47. ਵਕਸ ਛੰਦ ਦ੃ ਤੁਕਾਂਤ ਭ੃ਰ ਨੰੂ ਅਯਫੀ-੝ਾਯਸੀ ਸ਼ਫਦਾਿਰੀ ਵਿਿੱਚ ਕਾ੝ੀਆ-ਯਦੀ੝ ਵਕਿਾ ਜਾਂਦਾ ਿ੄ ?
(A) ਦ੅ਿਯਾ (B) ਸ੅ਯਠਾ
(C) ਫੈਂਤ (D) ਚ੆਩ਈ
48. “਩ੂਯਨ ਅਯਥਾਂ ਦਾ ਸੰਚਾਯ ਕਯਨ ਿਾਰ ਸ਼ਫਦ ਸਭੂਿ ਿਾਕ ਕਵਿਰਾਉਂਦਾ ਿ੄” ਕਥਨ ਿ੄   
(A) ਿਯਕੀਯਤ ਵਸੰਘ (B) ਫਰੂਭ ਪੀਰਪ
(C) ਩ੀ. ਗ੄ਯੀ (D) ਩ਤੰਜਰੀ
49. ਗੁਯਭੁਖੀ ਦ੃ ਵਕੰਨੇ ਅਿੱ ਖਯਾਂ ਨਾਰ ਸਾਯੀਆਂ ਰਗਾਂ ਭਾਤਯਾਂ ਦੀ ਿਯਤੋਂ ਨਿੀ ਕੀਤੀ ਜਾ ਸਕਦੀ
(A) ਵਤੰਨ (B) ਇਿੱਕ
(C) ਦਿੱ ਸ (D) ਦ੅
50. ਵਘਉ ਦ੃ ਦੀਿ੃ ਫਾਰਣ੃’ ਭੁਿਾਿਯ੃ ਦਾ ਅਯਥ ਿ੄
(A) ਅਿੱਗ ਰਾਉਣੀ (B) ਵਘਓ ਸਾੜਨਾ
(C) ਖੁਸ਼ੀਆਂ ਭਨਾਉਣੀਆਂ       (D) ਚਾਨਣ ਕਯਨਾ
ਵਨਰ ੃ਸ਼ : ਹ੃ਠਾਂ ਵ ਿੱ ਤ੃ ਪ੄ਰ੃ ਨੰੂ ਪੜ੍ਹ ਕ੃ ਵ ਿੱ ਤ੃ ਪਰਸ਼ਨਾਂ (51 ਤੋਂ 55)  ੃ ਉੱਤਰ ਢੁਿੱ ਕ ੇਂ ਵ ਕਲਪਾਂ ਰਾਹੀਂ ਵ ਓ:

ਇਵਤਿਾਸ ਇਸ ਗਰ ਦਾ ਗਿਾਿ ਿ੄ ਵਕ ਜਦ ਿੀ ਦ੃ਸ਼ ’ਤ੃  ਭੁਸੀਫਤ ਫਣੀ, ਇਿੱ ਥ੃ ਦ੃ ਿਾਸੀਆਂ ਨੇ ਿ੄ਯੀਆਂ 
ਨਾਰ ਚੰਗਾ ਰ੅ਿਾ ਵਰਆ। ਗੁਯੂ ਗ੅ਵਫੰਦ ਵਸੰਘ ਜੀ ਨੇ ਕ੃ਿਰ ਨੋਂ  ਸਾਰ ਦੀ ਉਭਯ ਵਿਿੱਚ ਆ਩ਣ੃ ਵ਩ਤਾ ਗੁਯੂ ਤ੃ਗ ਫਿਾਦੁਯ 
ਸਾਵਿਫ ਨੰੂ ਵਿੰਦੂ ਧਯਭ ਦੀ ਯਿੱ ਵਖਆ ਰਈ ਸ਼ਿੀਦੀ ਦ੃ਣ ਦੀ ਆਵਗਆ ਦ੃ ਵਦਿੱ ਤੀ ਤ੃ ਫਾਅਦ ਵਿਿੱਚ ਆ਩ਣਾ ਸਯਫੰਸ ਤਕ ਿਾਯ 
ਵਦਿੱ ਤਾ। ਫੰਦਾ ਫਿਾਦਯ ਨੇ ਸਯਵਿੰਦ ਦੀ ਇਿੱ   ਨਾਰ ਇਿੱ  ਿਜਾ ਵਦਿੱ ਤੀ। ਭਿਾਯਾਣਾ ਩ਰਤਾ਩ ਨੇ ਭੁਗਰ ਸਭਯਾ  ਅਕਫਯ ਦੀ 
ਈਨ ਨਾ ਭੰਨੀ। ਭਿਾਯਾਜਾ ਯਣਜੀਤ ਵਸੰਘ ਨੇ ਖ੃ਯੂੰ -ਖ੃ਯੂੰ  ਿ੅਋ ਩ੰਜਾਫੀਆਂ ਨੰੂ ਇਕਭੁਿੱ ਠ ਕਯਕ੃ ਩ੰਜਾਫ ’ਤ੃ ਩ੰਜਾਫੀਆਂ ਦਾ 
ਯਾਜ ਕਾਇਭ ਕਯ ਵਦਿੱ ਤਾ। ਬਗਤ ਵਸੰਘ ਤ੃ ਉਸਦ੃ ਸਾਥੀਆਂ ਨੇ ਿਿੱ ਸ-ਿਿੱ ਸ ਕ੃ ਪਾਂਸੀ ਦ੃ ਯਿੱ ਸ੃ ਆ਩ਵਣਆਂ ਗਵਰਆਂ ਵਿਿੱਚ 
਩ਿਾ਋। ਰਾਰਾ ਰਾਜ਩ਤ ਯਾ਋ ਨੇ ਪਯੰਗੀਆਂ ਦੀਆਂ ਡਾਂਗਾ ਖਾਂਵਦਆਂ ਆ਩ਣਾ ਆ਩ਾ ਵਨਛਾਿਯ ਕਯ ਵਦਿੱ ਤਾ। ਜਨਯਰ ਡਾਇਯ 
ਤੋਂ ਫਦਰਾ ਰ੄ਣ ਰਈ ਸ: ਉਧਭ ਵਸੰਘ ਨੇ ਅੰਗਯ੃ਜਾਂ ਨੰੂ ਨਾਨੀ ਚ੃ਤ੃ ਕਯਿਾ ਵਦਿੱ ਤੀ। ਸ: ਕਯਤਾਯ ਵਸੰਘ ਸਯਾਬਾ ਨੇ ਅੰਗਯ੃ਜਾਂ 
ਦੀ ਨੀਂਦ ਿਯਾਭ ਕਯ ਵਦਿੱ ਤੀ। ਦ੃ਸ਼ ਩ਰਤੀ ਕੁਯਫਾਨੀਆਂ ਦ੃ਣ ਵਿਿੱਚ ਸਾਡੀਆਂ ਔਯਤਾਂ ਿੀ ਵ਩ਿੱ ਛ੃ ਨਿੀਂ ਯਿੀਆਂ-ਫੀਫੀ 
ਗੁਯਸ਼ਯਨ ਕ੆ਯ, ਯਾਣੀ ਝਾੰਸੀ ਤ੃ ਯਾਣੀ ਸਾਵਿਫ ਕ੆ਯ ਨੇ ਿ੄ਯੀਆਂ ਨੰੂ ਵਦਨੇ ਤਾਯ੃ ਵਦਖਾ ਵਦਿੱ ਤ੃। ਵ਩ਿੱ ਛ੃ ਵਜਿ੃ ਿ੅ਈ ਕਾਯਵਗਰ ਦੀ 
ਰੜਾਈ ਵਿਿੱਚ ਵਿਸ਼੃ਸ਼ ਕਯਕ੃ ਬਾਯਤੀ ਪ੆ਜ ਤ੃ ਸਭੂਚ੃ ਬਾਯਤੀਆਂ ਨੇ ਩ਾਵਕਸਤਾਨ ਨੰੂ ਩ਛਾੜ ਕ੃ ਦਿੱ ਸ ਵਦਿੱ ਤਾ ਵਕ ਬਾਯਤੀਆਂ 
ਵਿਿੱਚ ਦ੃ਸ਼-ਵ਩ਆਯ ਦਾ ਜਜਫਾ ਆ਩ਣ੃ ਩ੂਯ੃ ਜ੅ਫਨ ਤ੃ ਿ੄ । ਉਿ ਜਾਤ-਩ਾਤ, ਯੰਗ-ਯੂ਩ ਅਤ੃ ਊਚ-ਨੀਚ ਦ੃ ਵਿਤਕਵਯਆਂ ਤੋਂ 
ਫਯੀ ਿੁੰ ਦ੃ ਿਨ। ਉਿ ਧਯਭ, ਫ੅ਰੀ, ਩ਰਾਂਤ ਤ੃ ਖ੃ਤਯ ਦ੃ ਸ੆ੜ੃ ਵਿਚਾਯਾਂ ਤੋਂ ਉੱ਩ਯ ਿੁੰ ਦ ਿਨ। ਉਿ ਆ਩ਣਾ ਸਿਾਯਥ ਬੁਿੱ ਰ ਕ੃ 
ਦ੃ਸ਼ ਰਈ ਿਯ ਕੁਯਫਾਨੀ ਕਯਨ ਰਈ ਵਤਆਯ-ਫਯ-ਵਤਆਯ ਯਵਿੰਦ੃ ਿਨ। 
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51. ਦ੃ਸ਼ ਬਕਤ ਕ੅ਣ ਨਿੀ ਿ੅ ਸਕਦਾ-
(A) ਸੁਆਯਥੀ (B) ਜਾਤ ਩ਾਤ ਵਿਿੱਚ ਵਿਸ਼ਿਾਸ ਨਾ ਯਿੱ ਖਨ ਿਾਰਾ
(C) ਿ੄ਯੀਆਂ ਨਾਰ  ਿੱ ਕਯ ਰ੄ਣ ਿਾਰਾ (D) ਭ੆ਤ ਦੀ ਩ਰਿਾਿ ਨਾ ਕਯਨ ਿਾਰਾ
52. ਵਕਿੜ੃ ਸੁਤੰਤਯਤਾ ਸੰਗਯਾਭੀ ਨੇ ਅੰਗਯ੃ਜਾਂ ਰਈ ਭੁਸ਼ਵਕਰਾਂ ਖੜਹੀਆਂ ਕਯ ਵਦਿੱ ਤੀਆਂ ਸਨ ।
(A) ਸ਼ਿੀਦ ਉਧਭ ਵਸੰਘ ਨੇ (B) ਭਿਾਯਾਜਾ ਯਣਜੀਤ ਵਸੰਘ ਨੇ
(C) ਕਯਤਾਯ ਵਸੰਘ ਸਯਾਬਾ ਨੇ (D) ਜਨਯਰ ਡਾਇਯ ਨੇ
53. ਩੄ਯਹ੃ ਵਿਿੱ ਚ ਆ਋ ਸ਼ਫਦ ‘਩ਛਾੜ ਕ੃’ ਦਾ ਕੀ ਅਯਥ ਿ੄
(A) ਿਯਾ ਕ੃ (B) ਿਾਯ ਖਾ ਕ੃
(C) ਈਨ ਭੰਨ ਕ੃ (D) ਗ੅ਡ੃  ੃ਕ ਕ੃  
54. ਉ਩ਯ੅ਕਤ ਩੄ਯ੃ ਦਾ ਢੁਕਿਾਂ ਵਸਯਰ੃ਖ ਦਿੱ ਸ੅ ।
(A) ਰੜਾਈ (B) ਦੁਸ਼ਭਨੀ
(C) ਦ੃ਸ਼-ਵ਩ਆਯ (D) ਿ੄ਯ-ਵਿਯ੅ਧ
55. ਩੄ਯਹ੃ ਵਿਿੱ ਚ ਆ਋ ਸ਼ਫਦ ‘ਖ੃ਯੂੰ -ਖ੃ਯੂੰ ’ ਸ਼ਫਦ ਿ੄
(A) ਅਗ੃ਤਯ (B) ਵ਩ਛ੃ਤਯ
(C) ਵਿਯ੅ਧੀ ਸ਼ਫਦ (D) ਸਭਾਸੀ ਸ਼ਫਦ
56. ‘ਜਜਫਾ’ ਸ਼ਫਦ ਦਾ ਸਭਾਨਾਯਥੀ ਿ੄
(A) ਰੜਾਈ (B) ਭੁਿਿੱ ਫਤ
(C) ਿਰਿਰਾ (D) ਦ੃ਸ਼ ਵ਩ਆਯ
57. ‘ਘ’ ‘ਝ’ ‘ਢ’ ‘ਧ’ ‘ਬ’ ਅਤ੃ ‘ਿ’ ਿਨ –
(A) ਖਵਿਿੇਂ ਵਿਅੰਜਨ (B) ਗੂੜ ਵਰ਩ਾਂਕ
(C) ਸਯਕਿੇਂ ਵਰ਩ਾਂਕ (D) ਩੄ਯ ਵਫੰਦੀ ਵਰ਩ਾਂਕ
58. ਯਸਾਂ ਦਾ ਯਾਜਾ ਕਵਿਰਾਉਂਦਾ ਿ੄
(A) ਵਸ਼ੰਗਾਯ (B) ਿੀਯ
(C) ਯ੅ਦਯ (D) ਿਾਸ
59. ‘ਭੁਿਾਿਯਾ’ ਸ਼ਫਦ  ਵਕਿੜੀ ਬਾਸ਼ਾ ਦਾ ਿ੄?
(A) ਸੰਸਵਕਰਤ (B) ਦ੃ਸੀ
(C) ਅਯਫੀ (D) ਅੰਗਯ੃ਜੀ
60. "ਵਦਰ ਦ੃ ਕ੃ ਵਿਵਦਆ ਩ੜਹ੅, ਗੁਣ ਇਸ ਵਜਿਾ ਨ ਿ੅ਯ l
ਵਿਵਦਆ ਫਾਝ ਭਨੁਿੱ ਖ ਿ੄, ਸਚਭੁਚ ਡੰਗਯ ਢ੅ਯ।”   ਸਤਯਾਂ ਵਿਿੱਚ ਿਯਵਤਆ ਛੰਦ ਿ੄
(A) ਦ੅ਿਯਾ (B) ਸ੅ਯਠਾ
(C) ਫੈਂਤ (D) ਸਾਯ੃ ਿੀ
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ખંડ – II 

ભાષા – I 

ગુજરાતી 

આ ખંડમા ંકુલ ૩૦Ṕὴનો છે. 

દરેક Ṕὴનનો જવાબ આપવો ફરિજયાત છે. 

31. િવὸાથὁનાં સવાὑગી િવકાસ માટ ેશું જἙરી છે  ?

(A) સાḚંકૃિતક Ṕવૃિતઓ  (B) ઉ᷿ચ-ક᷵ાનો અḑયાસṀમ

(C) રમત – ગમતની Ṕવૃિήઓ (D) ઉપરનાં બધા જ

32. િવὸાથὁના મḕૂયાંકનની ṝે὾ Ṕḋધિત કઈ છે ?

(A) માિસક મḕૂયાકંન  (B) અશા᷷વાἿશક મḕૂયાકંન

(C) વાἿષક મḕૂયાકંન (D) સતત મḕૂયાકંન

33. લેખનકાય᷷ દરિમયાન કઈ બાબતોનું Ḍયાન રાખવંુ જἙરી છે ?

જોડણી (B) િવરામિચḛન (C) ḗયાકરણ (D) ઉપરો᷺ત બધી જ 

34. બાળકમાં કયું કૌશḕય સૌથી છેḕલે િવકસે છે ?
(A) ṝવણ (B) લેખન  (C) કથન (D) વાંચન

35. શેના િશ᷵ણમાં શૈ᷵ િણક સાધન સૌથી ઓછંુ વાપરવંુ જોઈએ ?

(A) ḗયાકરણ (B) પὸ  (C)  કિવ પἵરચય (D) ગὸ

36. પાḅયપુḚતકમાં નીચેનામાંથી કઈ બાબતનો સમાવેશ થઇ શકે ?

(A) ચાટ᷷ (B) િચṏ (C) ભἸતપṏ (D) મોડેલ

37. નીચેનામાથંી શેની Ṕવૃિή બાળકમા ંસૌથી પહેલા કરાવવાથી બાળક ભાષા શીખશે ?

(A)વાચંન (B) લેખન (C) કથન (D) ṝવણ
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38. મḕૂયાંકનનો કયો હેતુ સૌથી મહḉવનો છે ?

(A) ભાષા᷶ાનની ચકાસણી (B) હેતુઓની િસિḋધ

(C) િવષયવḚતુનું ᷶ાન (D) િશ᷵કની કુશળતા

39. ‘કથન કૌશḕય’માં નીચેનામાંથી કી બાબતનો સમાવેશ થતો નથી ?

(A) હાવભાવ (B) શḐદ ઉપર ભાર (C) આરોહ-અવરોહ (D) સુંદર હḚતા᷵ર

નીચે આપેલ પὸાંશના આધારે ṔὴનẄમાંક 40 થી 45 Ṕὴનોના જવાબ આપો : 

મનેમારીભાષાગમેછેકારણબાનેહંુબાકહીશકુંછંુ. 

‘મḒમી’ બોલતાતોહંુશી᷻યોછેકપાંચમાંધોરણમાં.  

તἵેદવસેખબૂરોફથીવાઘમાયὅહોયએમમἹ ‘મḒમી’ કહીનેબૂમપાડલેી. 

બાḉયારેસહેજહસેલી–કારણબાએકસાદંુપોḚટકાડ᷷પણમાંડમાડંલખીશ᷺તી. 

બાબḍેકમાંસંવીસકરવા᷺યારેગઈનહોતીઅનેરાṏે ‘ લાયḍસ’ પાટὁમાંગઈહોયએવુંયાદપણનથી. 

40. કિવને શું ગમે છે ?

(A) નોકરી (B) બા (C) મḒમી (D) ભાષા

41. કિવના બા શું માંડમાંડ લખી શકતા ?

(A) પṏ (B) પોતાનું નામ (C) પોḚટકાડ᷷ (D) સાદંુ પોḚટકાડ᷷

42. “કિવને પોતાની માતૃભાષાના કારણે શું ગમે છે ?

(A) મḒમી (B) પાટὁ (C) બા (D) સἿવસ

43. કિવ ᷺યા ધોરણમાં ‘મḒમી’ બોલતા શી᷻યો ?

(A) પાંચ (B) ṏણ (C) ચાર (D) સાત

44. ‘માડંમાડં’માં કયુὑ સἽદય᷷ છે ?

(A) ભાવ સἽદય᷷ (B) નાદ સἽદય᷷ (C) ḋવીἘ᷺ત સἽદય᷷ (D) િવચાર સἽદય᷷

45. ‘મોિનકા ગાય છે ḁયારે િનમેશ વાંચે છે’  એ કેવા Ṕકારનું વા᷺ય છે ?

(A) સાદંુ વા᷺ય  (B) પૂણ᷷ વા᷺ય (C) સયુ᷺ ય વા᷺ય (D)  િવિધ વા᷺ય
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46. ‘પἵરણીત’ શḐદમાં વપરાયેલ Ṕḉયાય ઓળખો.

(A) પἵર (B) ઈત (C) ઇત  (D) અણીત

47. ખોટી જોડણી ધરાવતો શḐદ શોધો.

(A) િશિબર (B) નીરોગી (C) પἵર᷵ા (D) Ṕામાિણક

48. ‘ િચતા’ શḐદનો અથ᷷ જણાવો.

(A) ἵફકર (B) ચેહ (C) િવચાર (D) Ḛમરણ

49. િનદાન ṔἵṀયામાં સૌṔથમ કઈ બાબતનો સમાવેશ થાય છે ?

(A) ભૂલ ᷺યારે કરે છે ? (B) ભૂલ શા માટે કરે છે ? (C) ભૂલ કોણ કરે છે ? (D) ભૂલ ᷺યા થાય છે ?

50. મḕૂયાંકન ḋવારા શું માપન થવું જોઈએ ?

(A) િવὸાથὁની બુિḋધ (B) શૈ᷵િણક હેતુ (C) િવષયવḚતુ (D) િવὸાથὁની યાદશિ᷺ત

51. વગ᷷ખંડમા ંિશ᷵ણનાં મુ᷻ ય અંગો ᷺યા છે ?

(A) મḕૂયાકંન (B) વગ᷷ ḗયવḚથા (C) વગ᷷ િશ᷵ણ કાય᷷ (D) ઉપરના બધા

52. પૂવ᷷᷶ાનનો ઉપયોગ ᷺યા કૌશḕયમાં કરવામાં આવે છે ?

(A) ઉદાહરણ (B) િવષયાિભમુખ (C) Ḛપὼીકરણ (D) Ṕὴન Ṕવાિહતા

53. કયું સમાનથὁ જોડકું સાચું છે ?

(A) કાગ, રઢ (B) લત, કાક (C) રીત, પḌધિત  (D) ἶનદા અને Ṕશંસા

54. ‘નીચેનામાથંી કઈ બાબત એક તાસમા ંિસḋધ કરી શકાય છે ?

(A) સામાḍય હેત ુ(B) િશ᷵ણનાં Ḍયેયો (C) િવિશὼ હેત ુ (D) િશ᷵ણના ંઉίેશો

55. બે ṏણ શાણા, બે ṏણ દાણા, પાંચ શાન રંગીલા જન, રહેતા નહἸ ḁયાં રહેશો નહἸ, ḉયા ંનાગર નહἸ એ
વગડોવન - કયો છંદ છે ?
(A) ઝૂલણા (B) હἵરગીત (C)સવૈયા (D) મનહર

56. દોહરાનાં બીἒ અને ચોથા ચરણમા કેટલી માṏા હોય છે.?

(A) ૧૩ (B)૧૧ (C) ૧૫ (D) ૧૪
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57. હથેળીમા ચાંદ બતાવવા એટલ ે..... 

(A) દીવાḚવḎનમાં રાચવું (B)છેતરવું(C) Ṕેમમા ંપડવું (D) વશીકરણ કરવું

58. સંધી જોડો - નદી + અḒબુની

(A) નાḌયાḒબુ (B) નાḌયાઅḒબ ુ(C)નધḒબુ (D) નાધાḒબુ

59. િવરામિચḍહોને Ḍયાનમાં રાખીને સાચું િવધાન શોધો.

(A) બાએ કύું, “ἒ-તું હવે અમારા લેણામાંથી છૂટો.” (B) બાએ કύું. “ ἒ,તું હવે અમારા લેણામાંથી છૂટો

(C) બાએ કύું. “ ἒ !તું હવે અમારા લેણામાંથી છૂટો (D) બાએ કύું -  ἒ,તું હવે અમારા લેણામાથંી છૂટો

60. મḕૂયાકંનમાં કઈ બાબતનો  સમાવેશ થાય છે ?

(A) ᷵મતા (B) Ḛતર િનધા᷷રણ ṔἵṀયા (C) ᷵મતાની ઉપલિḐધ આંક (D) ઉપરના બધા
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- III

- II

61.

(A) (B) 

(C) (D) 

62.

(A) (B) 

(C) (D) 

63.

(A) (B) 

(C) (D) 

64.

(A) (B) 

(C) (D) 

65.

(A) (B) 

(C) (D) 
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66.

(A) (B) 

(C) (D) 

67.

(A) (B) 

(C) (D) 

68.

(A) (B) 

(C) (D) 

69.

(A) (B) 

(C) (D) 

70.

(A) (B) 

(C) (D) 

71.

(A) (B) 

(C) (D) 

72.

(A) (B) 

(C) o (D) ^
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73.

(A) (B) 

(C) (D) 

74.

(A) (B) 

(C) (D) 

75.

(A) (B) 

(C) (D) 

76.

(A) (B) 

(C) (D) 

77.

(A) (B) 

(C) (D) 

78.

(A) (B) 

(C) (D) 

79.

1. i. 

2. ii. 

3. iii. 

4. iv. 

1 2 3 4

(A) ii iv iii i

(B) iv i ii iii

(C) i ii iii iv

(D) iii iv ii i

80.

(A) (B) 

(C) (D) 
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81.

(A) (B) 

(C) (D) 

82.

(A) (B) 

(C) (D) 

83.

(A) (B) 

(C) (D) 

84.

(A) (B) 

(C) (D) 

85.

(A) (B) 

(C) (D) 

86.

(A) (B) 

(C) (D) 

87.

(A) 

(B) 

(C) 

(D) 

88.

(A) (B) 

(C) (D) 

89.

(A) (B) 

(C) (D) 

90.

(A) (B) 

(C) (D) 
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SECTION-III

LANGUAGE - II

ENGLISH

There are 30 questions all this section.

All questions are compulsory.

Direction (61-65) : Read the following passage carefully and answer the questions given below :

Cricket grew out of the many stick and ball games played in England 500 years ago. The word ‘bat’ is an

old English word that simply means stick or club. By the seventeenth century, cricket had evolved enough

to be recognisable as a distinct game. Till the middle of the eighteenth century, bats were roughly the

same shape as hockey sticks, curving outwards at the bottom. There was a simple reason for this: the

ball was bowled underarm, along the ground and the curve at the end of the bat gave the batsman the best

chance of making contact. “One of the peculiarities of cricket is that a Test match can go on for five

days and still end in a draw. No other modern team sport takes even half as much time to complete. A

football match is generally over in an hour-and-a-half. Even baseball completes nine innings in less than

half the time that it takes to play a limited-overs match, the shortened version of modern cricket !

61. There was a simple reason for this: the ball was bowled underarm, along the ground  and the curve at the

end of the bat gave the batsman the best chance of making contact. Linking device and in the sentence

expresses -

(A) sequence (B) contrast

(C) result (D) condition

62. Nine innings of baseball.....completed in less than 3 hours.

(A) is (B) are

(C) has (D) have

63. One of the strange things of cricket........a harsh reality of Test matches.

(A) show (B) shows

(C) are showing (D) have shown

64. Which sport is considered the shortened version of cricket?

(A) Hockey (B) Football

(C) Baseball (D) Stick & Ball
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65. The first sentence of this extract has-

(A) fallacy of authority (B) fallacy of hasty generalization

(C) fallacy of division (D) None

Direction (66-70) : Read the following Poem carefully and answer the questions given below :

Peering through the drape

Of my synthetic cell,

How I long to escape

This paralyzing hell.

Like a bruised, little bird

Too confused to fly,

I'm trapped, in a word,

So confined am I.

A captive, collared lion

Alone in its pen,

I'm pacin' and dyin'

In a manmade den.

For an eagle was not meant

To be locked in a cage,

Its life to be spent

Like a picture on a page.

66. The rhyme scheme in the poem is-

(A) abba (B) abab

(C) baab (D) bacd

67. A captive,collared lion is an example of-

(A) simile (B) metaphor

(C) alliteration (D) assonance

68. Like a bruised,little bird is an example of-

(A) simile (B) alliteration

(C) assonance (D) personification
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69. This paralyzing hell can be example of-

(A) metaphor (B) assonance

(C) personification (D) alliteration

70. Eagle's life has been compared with -

(A) page (B) cage

(C) picture (D) lock

71. You must not smoke here.Here 'must not' expresses-

(A) permission (B) prohibition

(C) inability (D) probability

72. "The salt of the Earth" means -

(A) To expect something in return (B) Very good & honest/kind

(C) To support someone (D) Neat and clean

73. Which of the following is not a type of sonnet?

(A) English sonnet (B) Italian sonnet

(C) Draconian sonnet (D) Petrarchan sonnet

74. What is drama?

(A) Trouble caused by friends

(B) The written words and directions for actors to follow

(C) The characters that perform in a play

(D) A story that is written to be performed or acted out

75. An elegy is a poem about…

(A) Love (B) Death

(C) Heroism (D) All of the above

76. Semi vowels are-

(A)/w/ and /j/ (B)/t  / and /Z /

(C) /t/ and /Z / (D) None of these

77. Which of the following is not the Plosive ?

(A) /k/ (B) /d/

(C) /p/ (D) /s/
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78. How many fricatives are there in RP ?

(A) 8 (B) 9

(C) 10 (D) 15

79. Which of the following word does not have /f/ sound ?

(A) Of (B) Phone

(C) Few (D) Off

80. How many vowels are in English?

(A) 12 (B) 05

(C) 08 (D) 20

81. Lingua Franca means a.....language.

(A) native (B) foreign

(C) optional (D) mediating

82. The deductive method of teaching is-

(A) theory to practice (B) example to rule

(C) concrete to abstract (D) knowledge to comprehension

83. Multilingualism occurs due to-

(A) learning has become multi purpose

(B) teachers visiting a multi nation

(C) learners trying to speak a multi language

(D) multi culture assimilating at a place

84. The everyday interaction of a family takes place in-

(A) lingua franca (B) home language

(C) school language (D) instructional language

85. Dyslexia is a language disorder of-

(A) speaking (B) reading

(C) writing (D) listening
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86. Round Robin Chart is a-

(A) formative evaluation (B) performance test

(C) diagnostic test (D) summative evaluation

87. Which of the following term is related to statistical concept -

(A) Objectivity (B) Reliability

(C) Validity (D) Fairness

88. Evaluation is aimed at -

(A) the learning process (B) the teaching efficiency

(C) the methodological applicability (D) all of these

89. The slow learners can be called -

(A) junior learners (B) special learners

(C) backward learners (D) ordinary learners

90. Remedial teaching doesn't impart -

(A) passivism (B) creativity

(C) optimism (D) confidence
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- III

- II

61.

(A) (B) 

(C) (D) 

62.

(A) (B) 

(C) (D) 

63.

(A) (B) 

(C) (D) 

64.

(A) (B) 

(C) (D) 

65.

(A) (B) 

(C) (D) 
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66.

(A) (B) 

(C) (D) 

67.

(A) (B) 

(C) (D) 

68.

(A) (B) 

(C) (D) 

69.

(A) (B) 

(C) (D) 

70.

(A) (B) 

(C) (D) 

71.

(A) (B) 

(C) (D) 

72.

(A) (B) 

(C) (D) 
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73.

(A) (B) 

(C) (D) 

74.

(A) (B) 

(C) (D) 

75.

(A) (B) 

(C) (D) 

76.

(A) (B) 

(C) (D) 

77.

(A) (B) 

(C) (D) 

78.

(A) (B) 

(C) (D) 

79.

(A) (B) 

(C) (D) 

80.

(A) (B) 

(C) (D) 

81.

(A) (B) 

(C) (D) 
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82.

(A) (B) 

(C) (D) 

83.

(A) (B) 

(C) (D) 

84.

(A) (B) 

(C) (D) 

85.

(A) (B) 

(C) (D) 

86.

(A) (B) 

(C) (D) 

87.

(A) (B) 

(C) (D) 

88.

(A) (B) 

(C) (D) 

89.

(A) (B) 

(C) (D) 

90.

(A) (B) 

(C) (D) 
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ਖੰਡ-III 
ਭਾਸ਼ਾ- Il 
ਪੰਜਾਬੀ 

ਇਸ ਖੰਡ ਵ ਿੱ ਚ ਕੁਲ 30 ਪਰਸ਼ਨ ਹਨ l 
ਸਾਰ੃ ਪਰਸ਼ਨ ਜਰੂਰੀ ਹਨ l 

61. ਷ੀਨੀਅਯ ਷੄ਕੇਂਡਯੀ ਩ੱਧਯ ਤ੃ ਩ੜ੍ਹਨ ਦਾ ਆਦਯਸ਼ ਯੂ਩ ਕੀ ਸ੄ ?
(A) ਫ੅ਰ-ਫ੅ਰ ਕ੃ ਩ੜ੍ਹਨਾ (B) ਤ੃ਜੀ ਨਾਰ ਤ੃ ਉੱਚੀ ਩ੜ੍ਹਨਾਂ
(C) ਭ੅ਨ ਵਾਚਨ (D) ਷ਭੂਹਸਕ ਵਾਚਨ
62. ਅਨੂਹਰ਩ੀ ਅਤ੃ ਩ਰਤੀਹਰ਩ੀ ਹਕ਷ ਬਾਸ਼ਾ ਕ੆ਸ਼ਰ ਨਾਰ ਷ੰਫਹਧਤ ਸਨ-
(A) ਷ੁਣਨ ਕ੆ਸ਼ਰ (B) ਹਰਖਣ ਕ੆ਸ਼ਰ
(C) ਭ੆ਹਖਕ ਩ਰਗਟਾਅ (D) ਩ੜ੍ਹਨ ਕ੆ਸ਼ਰ
63. ਗਰਤ ਕਥਨ ਚੁਣ੅ -
(A) ‘ਸ’ ਅੱਖਯ ਦੁੱ ਤ ਅਤ੃ ਷ੁਯਮੰਤਯੀ ਸ੄ l
(B) ‘ਯ’ ਅੱਖਯ ਦੁੱ ਤ ਅਤ੃ ਕੰਫਵਾਂ ਸ੄ l
(C) ਌, ਋, ਍, ਉ ਅਤ੃ ਊ ਗੁਰਾਈਦਾਯ ਷ਵਯ ਧੁਨੀਆਂ ਸਨ l
(D) ਅਨੁਨਾਹ਷ਕ ਅੱਖਯਾਂ ਹਵਚੋਂ ਹਤੰਨ ਅੱਖਯ ਹਕ਷੃ ਵੀ ਸ਼ਫਦ ਦ੃ ਸ਼ੁਯੂ ਹਵੱਚ ਨਸੀ ਵਯਤ੃ ਜਾਂਦ੃ l
64. ਗੁਯਭੁਖੀ ਦ੃ ਹਕੰਨੇ ਅੱਖਯਾਂ ਨਾਰ ਷ਾਯੀਆਂ ਰਗਾਂ ਭਾਤਯਾਵਾਂ ਦੀ ਵਯਤੋਂ ਨਸੀ ਕੀਤੀ ਜਾ ਷ਕਦੀ-
(A) ਹਤੰਨ (B) ਇੱਕ
(C) ਦੱ਷ (D) ਦ੅
65. ‘ਚੱਹਿਆਂ ਦੀ ਵਾਯ’ ਹਕ਷ ਨੇ ਹਰਖੀ-
(A) ਩ੀਯ ਭੁਸੰਭਦ (B) ਨਜਾਫਤ ਨੇ
(C) ਬਾਈ ਗੁਯਦਾ਷ ਜੀ ਨੇ (D) ਇਸਨਾਂ ਹਵਚੋਂ ਕ੅ਈ ਨਸੀ
66. “ਵਾਕ ਬਾਸ਼ਾ ਦੀ ਷ੁਤੰਤਯ ਇਕਾਈ ਸ੄, ਜ੅ ਆ਩ਣੀ ਹਵਆਕਯਣਕ ਹਵਸ਼੃ਸ਼ਤਾ ਕਾਯਣ ਹਕ਷੃ ਸ੅ਯ ਵੱਡੀ ਇਕਾਈ ਦ੃ ਅਧੀਨ

ਨਸੀਂ ਸੁੰ ਦੀ।“ ਇਸ ਕਥਨ ਹਕ਷ਦਾ ਸ੄-
(A) ਸਯਕੀਯਤ ਹ਷ੰਘ (B) ਫਰੂਭ ਪੀਰਪ
(C) ਩ੀ. ਗ੄ਯੀ (D) ਩ਤੰਜਰੀ
67. ਩ਯਨੀਤ ਨੇ ‘਩ੰਜਾਫੀ ਹਵਆਕਯਨ ਅਤ੃ ਹ਷ੱਹਖਆ ਹਵਧੀਆਂ’ ਨਾਂ ਦੀ ਹਕਤਾਫ ਩ੜ੍ਹੀ l ਵਾਕ ਦਾ ਩ਰਕਾਯ ਚੁਣ੅-
(A) ਷ਧਾਯਨ (B) ਷ੰਮੁਕਤ
(C) ਹਭਸ਼ਯਤ (D) ਗੁੰ ਝਰਦਾਯ
68. ਷ੀ. ਷ੀ. ਈ. ਹਵੱਚ ਹਕੰਨੇ ਭੁਖ਼ ਤੱਤ ਸਨ-
(A) ਇੱਕ (B) ਦ੅   
(C) ਹਤੰਨ (D) ਚਾਯ
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69. ਗਰਤ ਕਥਨ ਚੁਣ੅-
(A) ਬਾਈ ਕਾਨਹ  ਹ਷ੰਘ ਨਾਬਾ ਜੀ ਕਾਪੀ ਨੰੂ ‘ਯਾਗਨੀ’ ਭਨਦ੃ ਸਨ l
(B) ਡਾ. ਦੀਵਾਨ ਹ਷ੰਘ ਕਾਪੀ ਨੰੂ ‘ਗਜਰ ਦੀ ਯੀ਷੅ ਯੀ਷ ਫਹਣਆ ਸ੅ਇਆ ਛੰਦ’ ਭਨਦ੃ ਸਨ l
(C) ਗੁਰਾਭ ਪਯੀਦ ਨੇ ਷ਬ ਤੋਂ ਵੱਧ 171 ਕਾਪੀਆਂ ਦੀ ਯਚਨਾ ਕੀਤੀ l
(D) ਕਾਪੀ ਷ੂਪੀਆਂ ਦੀ ਕਵਾਰੀ ਦਾ ਷ੰਖ੃਩ ਤ੃ ਷ਯ੅ਦੀ ਕਾਹਵ ਯੂ਩ ਸ੄ l
70. "ਹਦਰ ਦ੃ ਕ੃ ਹਵਹਦਆ ਩ੜ੍ਹ੅, ਗੁਣ ਇ਷ ਹਜਸਾ ਨ ਸ੅ਯ l
ਹਵਹਦਆ ਫਾਝ ਭਨੱੁਖ ਸ੄, ਷ਚਭੁਚ ਡੰਗਯ ਢ੅ਯ।”   ਷ਤਯਾਂ ਹਵੱਚ ਵਯਹਤਆ ਛੰਦ ਸ੄
(A) ਦ੅ਸਯਾ (B) ਷੅ਯਿਾ
(C) ਫੈਂਤ       (D) ਷ਾਯ੃ ਸੀ
ਵਨਰਦ੃ਸ਼:ਪ੄ਰ੃ ਨੰੂ ਪੜ੍ਹ ਕ੃ ਉਸ ਹ੃ਠਾਂ ਵਦਿੱ ਤ੃ ਪਰਸ਼ਨਾਂ (71-75) ਤਕ ਦ੃ ਢੁਿੱ ਕ ੇਂ ਉੱਤਰ ਵਦਓ।

਩ੰਜਾਫ ਦੀ ਹਜੰਦਗੀ ਩ੇਂਡੂ ਹਜੰਦਗੀ ਸ੄ ਤ੃ ਷ਾਡੀ ਯਹਸਣੀ-ਫਹਸਣੀ ਤ੃ ਬਾਈਚਾਯਕ ਸਾਰਤ ਇ਷ ਹਕ਷ਭ ਦੀ 
ਸ੄ ਹਕ ਭਯਦਾਂ ਤ੃ ਤਰੀਭਤਾਂ ਦਾ ਫਸੁਤ ਷ਾਯਾ ਷ਭਾਂ, ਖ੃ਤਾਂ ਹਵੱਚ ਜਾਂ ਘਯਾਂ ਹਵੱਚ, ਜਾਂ ਹ਩ੰਡ ਦੀ ਹਕ਷੃ ਫਾਸਯਵਾਯ ਨੁਕਯ੃ ਹਜੱਥ੃ 
਩ਾਣੀ ਦਾ ਛੰਬ ਸ੅ਵ੃ ਤ੃ ਹ਩਩ਰਾਂ ਫਯ੅ਹਟਆਂ ਦੀ ਷ੰਘਣੀ ਛਾਂ ਸ੅ਵ੃, ਍ਥ੃ ਰੰਘਦਾ ਸ੄। ਗਰੀਆਂ ਹਵੱਚ ਹਪਯ ਦ੃ ਸਨ ਭੰਗਤ੃, 
ਪਕੀਯ ਜਾਂ ਇੰਵਾਣ੃ ਫਾਰ, ਜਾਂ ਹਕਤ੃-ਹਕਤ੃ ਹਦਨ-ਹਦਸਾੜ੍੃, ਹਵਆਸ ਹਤਉਸਾਯ ਵ੃ਰ੃ , ਕੜੁ੍ੀਆਂ ਕੱਤਯੀਆਂ । ਇ਷ ਕਯਕ੃ 
਩ੰਜਾਫ ਦ੃ ਗੀਤ ਫਸੁਤ ਕਯਕ੃ ਜਾਂ ਖ੃ਤਾਂ ਹਵੱਚ ਗਾ਋ ਜਾਂਦ੃ ਸਨ ਤ੃ ਜਾਂ ਘਯਾਂ ਦ੃ ਅੰਦਯ । ਸੁਣ ਅ਷ੀਂ ਩ਾਿਕਾਂ ਦੀ ਵਾਕਪੀ 
ਹ਷ਯਪ ਉਨਹ ਾਂ ਗੀਤਾਂ ਨਾਰ ਸੀ ਕਯਵਾਂਦ੃ ਸਾਂ, ਹਜਸੜ੍੃ ਹਕ ਩ੰਜਾਫੀ ਹਸਯਦ੃ ਦ੃ ਧੁਯ ਅੰਦਯੋਂ ਹਨਕਰ ਕ੃ ਗਰੀਆਂ ਹਵੱਚ ਗਾ਋ 
ਜਾਂਦ੃ ਸਨ। ਩ਯ ਗਰੀਆਂ ਹਵੱਚ ਗਾ਋ ਜਾਣ ਵਾਰ੃ ਗੀਤਾਂ ਦਾ ਦਾਇਯਾ ਇਤਨਾ ਤੰਗ ਸ੄ ਹਕ ਇਨਹ ਾਂ ਤੋਂ ਩ੰਜਾਫੀ ਗੀਤਾਂ ਦੀ 
ਹਭਿਤ,ਹਵਸ਼ਾਰਤਾ ਤ੃ ਡੂੰ ਘਾਈ ਦਾ ਅਨੁਭਾਨ ਰਾਉਣਾ ਫਸੁਤ ਵੱਡੀ ਬੁੱ ਰ ਸ੅ਵ੃ਗੀ। 
71. ਇ਷ ਩੄ਯ੃ ਅਨੁ਷ਾਯ ਩ੇਂਡੂ ਰ੅ਕ ਹਕੱਥ੃ ਕੰਭ ਕਯਦ੃ ਸਨ ?
(A) ਗਰੀ ਭੁਸੱਹਰਆਂ ਹਵਚ (B) ਪ੄ਕਟਯੀਆਂ ਹਵਚ
(C) ਖ੃ਤਾਂ ਜਾਂ ਘਯਾਂ ਹਵਚ (D) ਸ਼ਹਸਯਾਂ ਹਵਚ
72. ਸ੃ਿ ਹਰਹਖਆਂ ਹਵਚੋਂ ਅਹਜਸਾ ਩ੁਹਰੰਗ ਸ਼ਫਦ ਚੁਣ੅ਹਜ਷ਦਾ ਇ਷ਤਯੀ ਹਰੰਗ ਨਸੀ ਸੁੰ ਦਾ-
(A) ਭੰਗਤਾ (B) ਭਯਦ
(C) ਩ਾਣੀ (D) ਫਾਰ
73. ਇ਷ ਩੄ਯ੃ ਦਾ ਢੁੱ ਕਵਾਂ ਹ਷ਯਰ੃ਖ ਚੁਣ੅-
(A) ਩ੰਜਾਫੀ ਷ਹਬਆਚਾਯ (B) ਖ੃ਤੀ ਫਾੜ੍ੀ
(C) ਭਯਦਾਂ ਤ੃ ਤਰੀਭਤਾਂ ਦਾ ਕਾਯ-ਹਵਸਾਯ (D) ਩ੇਂਡੂ ਹਜੰਦਗੀ
74. ਗਰੀਆਂ ਹਵਚ ਹਕਸ੅-ਹਜਸ੃ ਗੀਤ ਗਾ਋ ਜਾਂਦ੃ ਸਨ?
(A) ਬੰਗੜ੍੃ ਵਾਰ੃ (B) ਩ੱਛਭੀ ਧੁਨਾਂ ਵਾਰ੃
(C) ਩੆਩ ਗੀਤ (D) ਧੁਯ ਅੰਦਯੋਂ ਹਨਕਰਣ ਵਾਰ੃
75. ਉ਩ਯ੅ਕਤ ਩੄ਯ੃ ਹਵਚਰ੃ ਸ਼ਫਦ ‘ਦਾਇਯਾ’ ਦਾ ਷ਭਾਨਯਥਕ ਸ਼ਫਦ ਚੁਣ੃-
(A) ਚਕ੅ਯ (B) ਷ਭਾਂਨਾਂਤਯ
(C) ਘ੃ਯਾ (D) ਹਤਕ੅ਨ
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ਹ੃ਠ ਵਲਖ੃ ਕਾਵ -ਟ੅ਟ੃ ਨੰੂ ਪੜ੍ਹ ਕ੃ ਪਰਸ਼ਨਾਂ (76 – 80 ਤਕ) ਦ੃ ਉੱਤਰ ਵਦਓ  
ਡਾਰੀ ਨਾਰੋਂ ਤ੅ ਤ੅ੜ੍ ਨ ਷ਾਨੰੂ,  
ਅ਷ਾਂ ਸੱਟ 'ਭਹਸਕ' ਦੀ ਰਾਈ  
ਰੱਖ ਗਾਸਕ ਜ੃ ਷ੁੰ ਘ੃ ਆਕ੃,  
ਖਾਰੀ ਕ੅ਇ ਨ ਜਾਈ, 
ਤੂੰ  ਜ੃ ਇੱਕ ਤ੅ੜ੍ ਕ੃ ਰ੄ ਹਗਓਂ,   
ਇਕ ਜ੅ਗਾ ਯਹਸ ਜਾ਷ਾਂ 
ਉਸ ਬੀ ਩ਰਕ-ਝਰਕ ਦਾ ਭ੃ਰਾ  
ਯੂ਩ ਭਹਸਕ ਨ਷ ਜਾਈ  
76. ਇਸ ਕਹਵਤਾ ਹਕ਷ ਦੀ ਯਚਨਾ ਸ੄ ?
(A) ਬਾਈ ਵੀਯ ਹ਷ੰਘ (B) ਸ਼ਾਸ ਸੁ਷੄ਨ
(C) ਦਭ੅ਦਯ (D) ਫੁਰਹ੃  ਸ਼ਾਸ
77. ਇ਷ ਕਹਵਤਾ ਹਵੱਚ ਹਕ਷ ਨੰੂ ਷ੰਫ੅ਹਧਤ ਕੀਤਾ ਹਗਆ ਸ੄?
(A) ਯੱਫ ਨ

ੂ
ੰ (B) ਹਕਯ਷ਾਨ ਨ

ੂ
ੰ

(C) ਪੱੁਰ ਤ੅ੜ੍ਨ ਵਾਰ੃ ਨ
ੂ

ੰ (D) ਪੱੁਰ ਨ
ੂ

ੰ
78. ਕਹਵਤਾ ਹਵੱਚ ਹਕਸੜ੍ੀ ਸ਼੄ਰੀ ਦੀ ਵਯਤੋਂ ਕੀਤੀ ਗਈ ਸ੄?
(A) ਸ਼ਾਂਤੀ ਵਾਰੀ (B) ਯਸ਷ ਵਾਰੀ
(C) ਭਾਨਵੀਕਯਨ ਵਾਰੀ (D) ਯੁਭਾਂ਷ ਵਾਰੀ
79. ਗੁਰਾਫ ਦਾ ਪੁੱ ਰ ਤ੅ੜ੍ਨ ਨਾਰ ਕੀ ਸ੅ਵ੃ਗਾ –
(A) ਭਹਸਕ ਹਜਆਦਾ ਦ੃ਯ ਤਕ ਨਸੀ ਯਸ੃ਗੀ (B) ਫਸੁਤ ਜਰਦੀ ਭੁਯਝਾ ਜਾਵ੃ਗਾ
(C) ਇਕ ਜਣ੃ ਨੰੂ ਭਹਸਕ ਦ੃ ਷ਕ੃ਗਾ (D) ਷ਾਯ੃ ਸੀ ਷ਸੀ
80. ਕਹਵਤਾ ਹਵੱਚ ਹਕਸੜ੍ੀ ਷ੁਯ ਦੀ ਵਯਤੋਂ ਕੀਤੀ ਗਈ ਸ੄?
(A) ਕੁਦਯਤ ਨਾਰ ਹ਩ਆਯ ਵਾਰੀ (B) ਹ਷ਹਖਆਦਾਇਕ
(C) ਉ਩ਯ੅ਕਤ ਦ੅ਵੇਂ ਸੀ (D) ਕ੅ਈ ਨਸੀ
81. ਖਹਸਵੇਂ ਹਵਅੰਜਨ ਸਨ –
(A) ਩, ਭ, ਵ (B) ਷, ਸ਼, ਸ
(C) ਷, ਡ, ਕ (D) ਚ,਩, ਜ
82. ਹਵਆ਩ਕ ਅਤ੃ ਹਨਯੰਤਯ ਭੁਰਾਂਕਣ ਦਾ ਉਰ੃ਖ ਸ੄
(A) ਕ੃ਵਰ ਆਯ. ਟੀ. ਈ. 2009 ਹਵੱਚ
(B) ਆਯ.ਟੀ. ਈ. 2009 ਅਤ੃ ਌ਨ. ਷ੀ, ਌ਪ. 2005 ਹਵੱਚ
(C) ਌ਨ ਈ ਩ੀ 1991ਅਤ੃ ਆਯ. ਟੀ. ਈ. 2009 ਹਵੱਚ
(D) ਌ਨ ਈ ਩ੀ 1991, ਌ਨ. ਷ੀ, ਌ਪ. 2005 ਅਤ੃ ਆਯ. ਟੀ. ਈ. 2009 ਹਵੱਚ
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83. ਹਕ਷ ਛੰਦ ਦ੃ ਤੁਕਾਂਤ ਭ੃ਰ ਨੰੂ ਅਯਫੀ-ਫ਼ਾਯ਷ੀ ਸ਼ਫਦਾਵਰੀ ਹਵੱਚ ਕਾਫ਼ੀਆ-ਯਦੀਫ਼ ਹਕਸਾ ਜਾਂਦਾ ਸ੄ ?
(A) ਦ੅ਸਯਾ (B) ਷੅ਯਿਾ
(C) ਫੈਂਤ (D) ਚ੆਩ਈ
84. ਷ਬ ਤੋਂ ਵੱਧ ਹਕੱ਷੃ ਹਕ਷ਨੇ ਹਰਖ੃
(A) ਫੁਰਹ੃  ਸ਼ਾਸ (B) ਸ਼ਾਸ ਸੁ਷੃ਨ
(C) ਅਹਸਭਾਦਯਾਯ (D) ਇਸਨਾਂ ਹਵਚੋਂ ਕ੅ਈ ਵੀ ਨਸੀ
85. ਹ਷ਹਖਆ ਷ਸਾਇਕ ਷ਭੱਗਯੀ ਹਵੱਚ ਹਕਹਯਆਤਭਕ ਷ਾਧਨ ਦਾ ਉਦਾਸਯਨ ਸ੄-
(A) ਯ੃ਡੀ਍ ਷ੁਣਨਾ (B) ਟੀ ਵੀ ਦ੃ਖਣਾ
(C) ਨਾਟਕ ਖ੃ਡਣਾ (D) ਕ੅ਈ ਨਸੀ
86. “ਹਵਆਸ ਜ੅ਗ੃ ਕ੃ ਅੜ੍ਾਟ ਬ੅ਗ੃ ਕ੃” ਅਖਾਣ ਦਾ ਬਾਵ
(A) ਘੱਟ ਉਭਯ ਦਾ ਸ੅ਣਾ ਩ਯ ਹਵਆਸ ਰਈ ਜਰਦੀ ਕਯਨਾ (B) ਹਵਆਸ ਹਵੱਚ ਫਸੁਤ ਯ੆ਰਾ ਩ਾਉਣਾ
(C) ਖੁਸ਼ੀ ਹਕ਷੃ ਦੀ ਸ੅ਣੀ ਤ੃ ਭਨਾਵ੃ ਕ੅ਈ ਸ੅ਯ (D) ਹਯ਷ਤ੃ਦਾਯੀ ਦਵ੃ ਹਵਆਸ ਦੀ ਜੁੰ ਭ੃ਵਾਯੀ ਚੁਕਣਾ

87. ਵਾਯ ਹਰਖੀ ਜਾਂਦੀ ਸ੄
(A) ਩ਉੜ੍ੀ (B) ਷ਰ੅ਕ
(C) ਅ਷ਟ਩ਦੀਆਂ    (D) ਕ੅ਈ ਨਸੀ
88. ਫ੃ਹ਷ਕ ਹ਷ਹਖਆ ਩ਰਣਾਰੀ ਹਵੱਚ ਹਕੰਨੇ ਹ਷ਧਾਂਤ ਸ਼ਾਹਭਰ ਕੀਤ੃ ਗ਋ ਸਨ?
(A) ਹਤੰਨ (B) ਦ੅
(C) ਚਾਯ (D) ਩ੰਜ
89. ਜ੅਷ਪ ਜ੃. ਵ੃ਫਯ ਅਨੁ਷ਾਯ ਹਕੰਨੇ ਪੀ਷ਦੀ ਹਗਆਨ ਅੱਖਾਂ ਯਾਸੀਂ ਗਰਹਸਣ ਕੀਤਾ ਜਾਂਦਾ ਸ੄ ?
(A) 17 ਪੀ਷ਦੀ (B) 40 ਪੀ਷ਦੀ

(C) 25 ਪੀ਷ਦੀ (D) 3 ਪੀ਷ਦੀ

90. ਩ਾਿ ਮ੅ਜਨਾ ਦਾ ਷ੰਫਧ ਅਹਧਆ਩ਨ ਦੀ ਹਕਸੜ੍ੀ ਅਵੱ਷ਥਾ ਨਾਰ ਸ੄
(A) ਷ਧਾਯਨ ਅਹਧਆ਩ਨ ਅਵੱ਷ਥਾ (B) ਉੱਤਯ ਅਹਧਆ਩ਨ ਅਵੱ਷ਥਾ
(C) ਩ੂਯਵ ਅਹਧਆ਩ਨ ਅਵੱ਷ਥਾ (D) ਕ੅ਈ ਨਸੀ
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ખંડ – III 

ભાષા – II 

ગુજરાતી 

આ ખંડમા ંકલુ ૩૦Ṕὴનો છે. 

દરેક Ṕὴનનો જવાબ આપવો ફરિજયાત છે. 

61. િબનઅનુભવી િશ᷵ક નીચેનામાંથી ᷺યા Ṕકારના પὴનો સરળતાથી કાઢી શકે છે ?

(A) ટૂંક જવાબી (B) ἶનબધ Ṕકારના (C)  અનાḉમાલ᷵ી (D) વḚતુ લ᷵ી

62.ઉḉṔે᷵ા અલંકારનું ઉદાહરણ શોધીન ેલખો.

(A) દમયંતીનું મુખ ચṑં જેવુ છે (B) ἓવનવાડી કરમાઇ ગઇ  (C) હૈયુ ἒણે િહમાલય

(D) તેન ુἙદન સાંભળીન ેદવાખાનાની દીવાલો Ṓુἓ ઉઠી.

63. 'મહારાજ તો ખુશ ખુશ થઈ ગયા !' વા᷺યમાં િનપાત જણાવો.

(A) ગયા (B) તો (C) ખુશ ખુશ (D) થઈ

64. 'કળ વળવી' - ἙἵઢṔયોગનો અથ᷷ આપો.

(A) ડર લાગવો (B) ભૂખ લાગવી (C) ἶચતા થવી (D) િનરાંત થવી

65. મોડી મોડી ખબર પડી, બા તું જ છો ḁયોિતધામ ! છંદ લખો.

(A) િશખἵરણી  (B) પḊૃવી (C) મંદાṀાḍતા (D) હἵરગીત

66. નીચેનામાથંી કયું ઉદાહરણ ઉપમા અલકંારનું નથી ?
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(A) ધીમે-ધીમ ેતે ડગ ધરતો - કોઈ મή ગજેḍṑની માફક (B) ડોહો સોટા જેમ હાલવા ચાલવા લા᷼યો

(C) વદન સુધાકરને રહુ િનહાળી (D) કાચ, ઘἵડયાળ અને સḉયની પેઠે ટાઈમટેબલ પણ નાજુક વḚતુ છે.

67. નીચે આપેલ વા᷺યમાં રેખાἵંકત શḐદનો કૃદંતનો Ṕકાર જણાવો.

લખવંુ વાચંવુ ંએ કંઈ કેળવણી નથી. 

(A) ભિવḙય કૃદંત (B) વત᷷માન કૃદંત (C) સબધં કૃદંત (D) િવḌયથ᷷ કૃદંત

68. 'મયૂરવાિહની' શḐદનો સમાસ ઓળખાવો.

(A) તḉપἘુષ (B) બહુṜીહી (C) કમ᷷ધારય  (D) ઉપપદ

69. મુ᷺ તકનો િવશેષ ગુણ કયો છે ?

(A) પારદἿશતા (B) છંદ  (C) ચમḉકૃિત  (D) સચોટતા

70. નીચે આપેલા િવકḕપોમાથંી સાચી જોડણી શોધીને લખો.

(A) Ḓયુિનિસપાલીટી  (B) Ḓયુિનિસપાિલટી (C) Ḓયુનીિસપાિલટી (D) Ḓયુિનસીપાલીἵટ

71. ἵṀયાપદનાં કેટલા Ṕકાર છે ?

(A) 7 (B) 9 (C)  6 (D) 11

72. સિંધ જોડો  - ધનુસ ્+ ધર

(A) ધનુધર (B) ધનુ᷷ધર (C) ધનુધ᷷ર  (D) ધનુધર᷷

73. શḐદસમૂહ માટ ેએક શḐદ આપો - જૂની Ṕણાિલકાનું આચરણ તમેજ સમથ᷷ન કરનાર

(A) Ṕખારવાદી (B) ἙἵઢચુḚત (C) ઝનૂની  (D) પરપંરાગત
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74.નીચેનામાંથી કયો શḐદ 'પḊૃવી'નો સમાનાથὁ નથી ?

(A) ચપલા (B) અવિન (C) અચલા (D) ઈલા

75. 'સંચય' શḐદનો િવἘḋધાથὁ શḐદ કયો છે ?

(A) ḗયય (B) િવધેય (C) િવṀય (D) િવનય

76. મોહન ચતુર િવὸાથὁ છે. આ વા᷺યમાં િવશેષણ કયું છે ?

(A) મોહન (B) ચતુર (C) િવὸાથὁ (D) છે.

77. અલકંાર ઓળખાવો : 'ἶજદગી એટલ ેἶજદગી' .

(A) ઉપમા (B) યમક (C) Ἑપક  (D) અનḍવય

78. કયો સમાસ ઉપપદ સમાસ નથી ?

(A) તટḚથ (B) અખૂટ (C) અનુજ (D) એકપણ નિહ

79. નીચેનામાથંી કઈ ભાવવાચક સં᷶ા નથી ?

(A) હાḚય (B) માતૃḉવ (C) વḉસલ (D) સુગંધ

80. એ Ṕḉયય કઈ િવભા᷺તીમાં આવી શકે છે ?

(A) પહેલી (B) ṏીἓ (C) સાતમી (D) ઉપરની બધી

81. ‘કથન કૌશḕય’માં નીચેનામાંથી કી બાબતનો સમાવેશ થતો નથી ?

(A) હાવભાવ (B) શḐદ ઉપર ભાર (C) આરોહ-અવરોહ (D) સુંદર હḚતા᷵ર
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82. ‘કેવું સુંદર ચંṑ !’ વા᷺યનો Ṕકાર જણાવો. ?

(A) સાદંુ વા᷺ય  (B) ઉḋગાર વા᷺ય  (C) આ᷶ાથ᷷ વા᷺ય  (D) િવિધ વા᷺ય

83. બાળકમા ંકયું કૌશḕય સૌથી છેḕલે િવકસ ેછે ?

(A) ṝવણ (B) લેખન  (C) કથન (D) વાંચન

84. નીચેનામાંથી શેની Ṕવૃિή બાળકમાં સૌથી પહેલા કરાવવાથી બાળક ભાષા શીખશે ?

(A)વાંચન (B) લેખન (C) કથન (D) ṝવણ

85. ‘વત᷷માનકાળનો અનુભવ ભૂતકાળ જેવો જ છે.’ એવું સમἒવતો અનભુવ એટલે...

(A) પુન:ṔાિḎત (B) Ṕḉયિભ᷶ા (C) સંચય (D) સંકતેાન᷺ન

નીચે આપેલા ગὸાંશના આધારે ṔὴનṀમાકં 86 થી 90 Ṕὴનોના જવાબ આપો : 

દુકાનમાં ગોઠવેલી મીઠાઈને જોવા માટ ેઘણાખરા ઊભા હતા. કેટલીક પારસી બાઈઓ મીઠાઈની ખરીદી કરતી હતી; પણ 

સૌથી દૂર ખણૂામાં, એક નાનો દસ-બાર વષ᷷નો છોકરો, અḉયંત તૃḙણાથી અિનમેષ ṑિὼએ મીઠાઈના થાળ તરફ - ખાસ 

કરીને સૌથી આગળ પડલેા જલેબીના ચકચિ᷺ત ગૂંચળાઓ તરફ જોઈ રύો હતો અચાનક મે જોયો ભિ᷺તભાવથી ἒણે 

એની ṑિὼ ḉયા ંચἼટી રહી હતી. 

86. દુકાનમાં શું ગોઠવેલું હતું ?

(A) ફરશાણ(B) મીઠાઈ (C) દવા (D) જલબેી

87. દૂર ખૂણામા કોણ ઉભો હતો ?

(A) પારસી બાઈ (B) લેખક (C) દસ- બાર વષ᷷નો છોકરો (D) દુકાનદાર

(47)ST-2 B

P.T.O.
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88.જલેબીના ચકચિ᷺ત ગૂંચળાઓ તરફ કોણ જોઈ રύું હતું ?

(A) પારસી બાઈ (B) લેખક (C) દસ- બાર વષ᷷નો છોકરો (D) દુકાનદાર

89. મીઠાઈ કોણ ખરીદતું હતું ?

(A) પારસી બાઈ (B) લેખક (C) દસ- બાર વષ᷷નો છોકરો (D) દુકાનદાર

90. ભિ᷺તભાવથી ἒણે કોની  ṑિὼ ḉયા ંચἼટી રહી હતી. આ વા᷺ય કોણ બેલ ેછે ?

(A) પારસી બાઈ (B) લેખક (C) દસ- બાર વષ᷷નો છોકરો (D) દુકાનદાર

(47)ST-2 B

P.T.O.
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SECTION-IV

- IV

MATHEMATICS & SCIENCE

There are 60 questions all in this section.

All questions are compulsory.

91. If

 

3

2

27

8
.

4

9
1xx



















then value of x will be -

(A) 1 (B) 2

(C) 3 (D) 4

 

3

2

27

8
.

4

9
1xx



















x ?

(A) 1 (B) 2

(C) 3 (D) 4

92. Choose the correct option -

(A) Perfect square is always obtained by adding 1 to the miltiplication of 2 consecutive even numbers.

(B) Perfect square is always obtained by adding 1 to the miltiplication of 2 consecutive odd numbers.

(C) Difference of square of 2 consecutive even numbers will always be divisible by 4.

(D) Difference of square of 2 odd number will alway be an odd number.

&

(A) 

(B) 

(C) 

(D)
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93. Multiplication of

2 9

3

x

x
 and 

5

3

x

x
 expression will be -

(A) 
5

3

x

x
(B) x – 5

(C) x – 3 (D) 
3

3

x

x

2 9

3

x

x

5

3

x

x

(A) 
5

3

x

x
(B) x – 5

(C) x – 3 (D) 
3

3

x

x

94. Factor of 
4 4

1a a  will be -

(A) 22 2 1a a (B) 32 2 1a a

(C) 32 2 1a a (D) 22 2 1a a

4 4
1a a

(A) 22 2 1a a (B) 32 2 1a a

(C) 32 2 1a a (D) 22 2 1a a

95. If 0116y9x5  and 05y6x7   then value of x + y  will be -

(A) 7 (B) 5

(C) 16 (D) 20

0116y9x5  05y6x7  x + y

(A) 7 (B) 5

(C) 16 (D) 20
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96. Choose the incorrect statement -

(A) Inverse proportion of a : b is b : a (B) Cube root ratio of 729 : 512 is 8 : 9

(C) Square ratio of 11 : 13 is 121 : 169 (D) Third proportion to 32 and 48 is 72

(A) a : b b : a (B) 729 : 512 8 : 9 

(C) 11 : 13 121 : 169 (D) 32, 48 72 

97. If an amount compounds to 4850 in 2 years and 5335 in 3 years. Then calculate the value of rate of

interest per annum -

(A) 8% (B) 9%

(C) 10% (D) 10.5%

(A) 8% (B) 9%

(C) 10% (D) 10.5%

98. Greatest fraction among
23 31 29 41

, , ,
24 32 31 43

 will be -

(A) 
41

43
(B) 

31

32

(C) 
29

31
(D) 

23

24

23 31 29 41
, , ,

24 32 31 43

(A) 
41

43
(B) 

31

32

(C) 
29

31
(D) 

23

24
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99. Sunil scored 73 in subject A. He scored 56% in B and x in C. Every subject contributed maximum 150

marks. Sunil scored a total of 54%. Find of the scored by will in C -

(A) 84 (B) 86

(C) 89 (D) 73

A  73 B  56% C  x 150

54% C

(A) 84 (B) 86

(C) 89 (D) 73

100. Price of 12 object is equal to selling price of 9. Calculate the profit percentage.

(A) 20% (B) 25%

(C)
1

33 %
3

(D) 40%

(A) 20% (B) 25%

(C)
1

33 %
3

(D) 40%

101. If ABCD is a square and ABE is an equilateral triangle, then value of ?AFB

(A) 90º (B) 75º

(C) 45º (D) 60º

A

E

D C

B

F

ABCD ABE ?AFB
(A) 90º (B) 75º

(C) 45º (D) 60º

A

E

D C

B

F
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102. O is the centre of cirle.Chords AC and BD intersect at point P. If º120AOB and º40DAP   then

APB = ?

(A) 60º (B) 80º

BA

CD

O

120º

P

(C) 100º (D) 140º

O AC BD P º120AOB

º40DAP  APB
(A) 60º (B) 80º

BA

CD

O

120º

P

(C) 100º (D) 140º

103. If supplemantary angle of an angle is 4 times the complemantary angle then the angle will be ?

(A) 30º (B) 60º

(C) 45º (D) 75º

(A) 30º (B) 60º

(C) 45º (D) 75º

104. In the following figure, In 2 triangle PQR and TQR, PQ = TR and PR = TQ. Then which of the following

is correct -

(A) PQR TQR (B) PQR RQT

P

Q R

T

(C) PQR QTR (D) PQR TRQ

PQR TQR PQ = TR PR = TQ 

(A) PQR TQR (B) PQR RQT

(C) PQR QTR (D) PQR TRQ

P

Q R

T
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105. Sum of length breadth and height of a cuboid is 24 cm. Diagonal is equal to 15 cm. Calculate the total

surface area?

(A ) 351 cm2 (B) 256  cm2

(C) 385 cm2 (D) 285 cm2

(A) 351 cm2 (B) 256  cm2

(C) 385 cm2 (D) 285 cm2

106. In the following table percentage of educated person in 6 cities is shown. It also shows ratio of educated

males and females.

A  75 5 : 4 
B 80 5 : 3 
C 85 7 : 10  
D  84 4 : 3 
E 90 4 : 5 

F 95 10 : 9 

Educated people in city
Percentage of educated people = ×100

Population of the city

100

If city B has 137460 educated females then is the population of B?

(A) 5,58,200 (B) 4,58,200

(C) 3,72,400 (D) 4,78,400

B 137460 B 

(A) 5,58,200 (B) 4,58,200

(C) 3,72,400 (D) 4,78,400
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107. A box has 15 cards having numbers from 1 to 15. If one card is randomly taken out then find out its

probability of being multiple of 2 or 3.

(A) 
2

15
(B) 

2

3

(C) 
7

15
(D) 

1

5

(A) 
2

15
(B) 

2

3

(C) 
7

15
(D) 

1

5

108. Direction : Given pie chart shows savings and expenditure of Mr. Sharma's family in different sections.

Study the chart and answer the following questions.

What is the percentage of saving of Mr. Sharma's total income-

(A)
1

33 %
3

(B) 30%

(C) 25% (D) 20%
90

0

36
0

54
0

13
0

27
0

14
0

18
0

108
0

(A)
1

33 %
3

(B) 30%

(C) 25% (D) 20%

109. If at present the data used in Census of India 2011 is used again in a survey, then those data will be called-

(A) Primary data (B) Secondary data

(C) Special data (D) None of these

(A) (B) 

(C) (D) 
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110. The method of class determination where upper and lower limit of every class is different from lower

limit of next class is known as -

(A) Exlusive Method (B) Inclusive Method

(C) Section Method (D) None of these

(A) (B) 

(C) (D) 

111. Mathematics is taught mainly to develop mental powers. Knowledge of the facts of mathematics is

given after that only. This defination is given by -

(A) Marshall H. Stone (B) Prof. Schultze

(C) Carl Friedrich Gauss (D) Berteu Russell

(A) (B) 

(C) (D) 

112. Consider the following statements related to the nature of mathematics and choose the incorrect

statement?

(A) The new field of mathematics 'Algebra' is completely abstract.

(B) In mathematics, the abstract concepts are defined in concrete form.

(C) The Nature of mathematics is general to specific.

(D) The formulae, equations, principles etc. of mathematics do not exist in concrete form.

(A) 

(B) 

(C) 

(D)
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113. The proof in Mathematical logic by which any statement is proved wrong, is known as -

(A) Postulates (B) Counter examples

(C) Negation (D) Proposition

(A) (B) 

(C) (D) 

114. Choose the incorrect statements regarding the language of Mathematics -

(A) Unlike the ordinary language the language of mathematics is not time bound.

(B) Mathematical language is beyond the premises of sentiment.

(C) Mathematical language is static.

(D) Mathematical statements are unambiguous.

(A) 

(B) 

(C) 

(D) 

115. According to Datton, mathematics provides logical thoughts, accurate statements and the power to speak

the truth. This statement represents which values of mathematics?

(A) Social Values (B) Cultural Values

(C) Intellectual Values (D) Moral Values

(A) (B) 

(C) (D) 

116. If a child has difficulty in decimal, he/she will have difficulty in algebra and percentage also. This sequence

will continue. This kind of problem in maths is known as -

(A) Cumulative nature of Mathematics (B) Procedural fluency of Mathematics

(C) Conceptual understanding of Mathematics (D) Compartmentalisation in Mathematics

(A) (B) 

(C) (D) 
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117. Consider the following statements and choose the incorrect statement ?

(A) Analysis method is mainly used in textbooks instead of synthesis method.

(B) Synthesis method is complementary to the analysis method.

(C) Analysis method is most suitable in solving equations in algebra.

(D) The analysis method proceed from unknown to known.

(A) 

(B) 

(C) 

(D) 

118. Which one is not a characteristic of evaluation?

(A) It is a continuous process

(B) It is an integral part of Teaching process

(C) Evaluation is nothing to do with Teaching objectives

(D) Evaluation is a co-operative process

(A) (B) 

(C) (D) 

119. The teaching process followed to correct the errors made by the students is called-

(A) Diagnostic teaching (B) Remedial teaching

(C) (A) and (B) both (D) None of the above

(A) (B) 

(C) (A)  (B) (D) 

120. Which one is a quantitative technique of evaluation -

(A) Questionnaire (B) Interview

(C) Rating Scale (D) All of the above

(A) (B) 

(C) (D) 
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121. Which of the following is not correct about Bacteria-

(A) Streptococus bacteria is widely used in yogurt & cheese industry

(B) Rhizobium is a symbiotic nitrogen fixing bacteria

(C) DNA and RNA both nucleic acid can not be found together in any bacteria

(D) Mitosis is found in bacterial cell

(A) 

(B) N
2
-

(C) DNA RNA

(D)

122. Which is the main diseases of plants due to deficiency of nitrogen?

(A) Dwarf leaves (B) Low immunity

(C) Chlorosis in leaves (D) Delay in flowering

(A) (B) 

(C) (D) 

123. Which one is an example of aggeregate fruit ?

(A) Strawberry (B) Mulberry

(C) Jackfruit (D) Mango

(A) (B) 

(C) (D) 

124. How does a plant cell differ from an animal cell?

(A) Cell wall (B) Chloroplast

(C) Centrosome (D) All of these

(A) (B) 

(C) (D) 
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125. The cause of diabetes insipidus disease is -

(A) Lack of  Insulin hormone (B) Exess of Vasopressin hormone

(C) Lack of Vasopressin hormone (D) Lack of MSH

(A) (B) 

(C) (D) MSH

126. Choose the correct option with respect to the diseases given below :

1. Cancer and Heartattack are non-contagious diseases.

2. Vaccine of DPT is jabbed in diptheria.

3. DOTS strategy is used in Treatment of TB.

4. MMR vaccine is used in Measles.

Code -

(A) Only 1, 2 and 3 (B) Only 2, 3 and 4

(C) Only 1, 3 and 4 (D) 1, 2, 3 and 4

DPT

DOTS

MMR

(A) (B) 

(C) (D) 
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127. Choose the correct options :

1. Fats have greater amount of per kilogram energy than protein and carbohydrate.

2. Fructose is sweetest natural sugar. It's also known as Brain Sugar.

3. Vitamin K is known as anti haemorrhage vitamin.

(A) Only 2 and 3 (B) Only 1 and 3

(C) Only  1 and 2 (D) All of the above

K

(A) (B) 

(C) (D) 

128. Androgen Hormone is secreted by -

(A) Leydig cells (B) Graffin follicle

(C) Corpusluteum (D) Theca Interna Layer

(A) (B) 

(C) (D) 

129. Work done on a body do not depend on which of the following -

(A) Applied force (B) Displacement

(C) Angle between displacement and applied force (D) Initial velocity of the body

(A) (B) 

(C) (D) 
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130. Rahul is sitting infornt of a magical mirror. He observes that image of his head is larger than original,

middle part of the body remains same and leags are shorter than original. What is the correct order of

mirrors placed in magical mirror from up to down -

(A) Convex, Concave, Plane (B) Plane, Convex, Concave

(C) Concave, Plane, Convex (D) Convex, Plane, Concave

(A) (B) 

(C) (D) 

131. The value fo 30ºC in Degree Fahrenheit is -

(A) 96F (B) 86F

(C) 82F (D) 88F

30ºC

(A) 96º F (B) 86º F

(C) 82º F (D) 88º F

132. The Phenomenon of electromagnetic induction is -

(A) Process to charge a body.

(B) Process of inducing magnetic field when current is passed through a coil.

(C) Process of generating induced electric current  in a coil by relative motion between coil and magnet.

(D) Process of rotating a coil of an electric motor.

(A) 

(B) 

(C) 

(D)
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133. What is the frequency of Alternating Current (AC) in India?

(A) 46 Hz (B) 50 Hz

(C) 56 Hz (D) 52 Hz

(A) 46 Hz (B) 50 Hz

(C) 56 Hz (D) 52 Hz

134. Which of the following planet rotates in the opposite direction of the Earth?

(A) Uranus (B) Saturn

(C) Mars (D) Jupiter

(A) (B) 

(C) (D) 

135. Mass of one atom of oxygen is -

(A) 23

1

6.023 10
g (B) 23

16
g

6.023×10

(C) 23

32

6.023 10
g (D) 8

(A) 23

1

6.023 10
g (B) 23

16
g

6.023×10

(C) 23

32

6.023 10
g (D) 8
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136. The following reaction takes place in a laboratory to produce oxygen-

3(s) (s) 2

heat
2KClO   2KCl + 3O  (g)

Catalyst

Which of the following statement is correct with respect to above reaction -

(A) It is a decomposition reaction and heat is realesed in it.

(B) It is a combination reaction.

(C) It is a decomposition reaction and its nature is endothermic.

(D) It is a photochemical reaction and its nature is exothermic.

3(s) (s) 2
2KClO  2KCl + 3O  (g)

(A) 

(B) 

(C) 

(D) 

137. Consider the following statements and select the correct code :

1. Gold is an example of pure matter. 2. Compressibility property is highest in a solid state.

3. Plasma state is an insulator of electricity. 4. Solid has fixed volume.

Correct code is -

(A) Only 1, 3 and 4 (B) Only 1, 2 and 4

(C) Only 1, 2 and 3 (D) Only 1 and 4

(A) (B) 

(C) (D) 

138. The outer layer of utensil becomes black while cooking food. What cant be interpreted by following incident -

(A) Food is not fully cooked (B) Fuel is moist

(C) Fuel has not burnt completely (D) Fuel is burning properly

(A) (B) 

(C) (D) 
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139. Which of the following is not correctly paired -

(A) PVC - Polyvinyl Cyanide (B) PAN - Polyacrylonitrile

(C) Teflon - Polytetrafluoroethylene (D) Bakelite - Phenol + Formaldehyde

(A) PVC (B) PAN

(C) (D)

140. Consider the following statements and choose incorrect pair -

(i) Thickness of ozone layer is measured in Dobson unit.

(ii) Major constituents of CNG are Propane and Butane.

(iii) Water vapour, CO
2
 , N

2
O are responsible for green house effect.

(iv) Denitrifying bacteria converts nitrogen into nitrate.

(A) i & iv (B) ii & iii

(C) ii & iv (D) i & iii

(i) 

(ii) 

(iii) CO
2

N
2
O

(iv) 

(A) i iv (B) ii iii

(C) ii iv (D) i iii

141. Major impact of Algal Bloom in water bodies is -

(A) Oxygen content in water increases (B) CO
2
 in water increases

(C) Oxygen in water gets reduced (D) Acidity of water increases

(A) (B) CO
2
 

(C) (D) 

142. Which of the following pair is suitable for mixed crop farming -

(A) Wheat + Barley (B) Sorghum + Bajra

(C) Gram + Sesame (D) Groundnut + Sunflower

(A) (B) 

(C) (D) 
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143. Consider the following statements and choose the correct statement regarding science club in school-

(i) Science club are committees run by students in school.

(ii) There are 2 important principles of science club, learning by doing and learning from life.

(iii) Science club provides an opportunity for formal learning.

(iv) Purpose of science club is to develop intrest towards science and scientific vision among students.

(A) Only (i), (ii) & (iii) (B) Olny (ii), (iii) & (iv)

(C) Only (i), (ii) & (iv) (D) (i), (ii), (iii) & (iv)

(i) 

(ii) 

(iii) 

(iv) 

(A) (i), (ii)  (iii) (B) (ii), (iii) (iv)

(C) (i), (ii) (iv) (D) (i), (ii), (iii) (iv)

144. Which of the following programming has the main aim to mastery of the content -

(A) Linear Programming (B) Branching Programming

(C) Mathetics Programming (D) Computer assisted Instruction

(A) (B) 

(C) (D) 

145. Choose the incorrect statement -

(A) There is no place for criticism  in Brain storming method.

(B) Conference is an extended form of lecture method where subject experts deliver their ideas on a

subject and participants are passive audience only.

(C) In supervised study method teacher plays a role of guide and mentor instead of teaching.

(D) Atleast 2 teachers should be there in team teaching.

(A) 

(B)

(C) 

(D)
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146. "To learn science, to do science. There is no other way to learn science". Who gave this definition of

science?

(A) C.V. Raman (B) D.S. Kothari

(C) Pandit Jawahar Lal Nehru (D) Karl Popper

(A) (B) 

(C) (D) 

147. Which of the following is not a characteristic of scientific approach -

(A) Hard work (B) Open mindness

(C) Tendency to curiosity (D) Objectivity in dealing with problems

(A) (B) 

(C) (D) 

148. Who presented the process of evaluation in the form of a triangle dividing it into three stages of teaching

objective, learning experience and behavioral change?

(A) Dr. Patel (B) Dandekar

(C) Quinlan Hannah (D) None of the above

(A) (B) 

(C) (D) 

149. Which one of the following is not a good test technical criterion?

(A) Validity (B) Reliability

(C) Discrimination (D) Frugality

(A) (B) 

(C) (D) 

150. Which objective is not related to psychomotor domain -

(A) Complex overt reaction (B) Perception

(C) Adaptation (D) Response

(A) (B) 

(C) (D) 
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(नकद परु�कार व छा�वृ�त अ�यथ� के को�चगं स�ंान म � �वशे लने ेपर ही देय ह�ग।े)



Online Registration RAS K-SAT ( Register Now) हमारी वबेसाईट के �लकं   पर करवा सकत ेह।�

 K-SAT  Syllabus

How to Apply

Online Registration Form के �लए आप इस कोQR Code  �केन कर 

आवदेन कर सकत ेह।�

Note 1. Negative Marking 1/3 Part of the marks of each question.

Note 2.  �व�ान, ग�णत, रीज�नगं  के �� म���मक �तर के एव ं भगूोल, स�ं वधान, इ�तहास, कला एव ं स�ंकृ�त 

                 के �� उ� मा�य�मक �तर के ह�ग।े

Note 3. राज�ान बोड� क� �कताब� का सदं भ � ल ेसकत ेह।ै

Hkkjr dk Lora=rk laxzke % xk¡/kh ;qx Hkkjr dk Lora=rk laxzke % xk¡/kh ;qx Hkkjr dk Lora=rk laxzke % xk¡/kh ;qx 

dhdhdh

(1919-1947 bZ- )(1919-1947 bZ- )(1919-1947 bZ- )



Kalam RAS Foundation Programme

T ह�त�ल�खत नो�स उपल�ध ह�ग े ।

T �ार�ं भक एव ंम�ुय परी�ा म � समसाम�यक घटनाओ ंपर पछेू जान ेवाल े��� पर आधा�रत (Monthly Kalam Current 

Affairs) मा�सक कलाम समसाम�यक� उपल�ध होगी ।

T ��त�दन 4-5 घटें क� �नय�मत क�ाए ं ।

D  क�ाओ ंके सचंालन के साथ-साथ ही गणुव�ापणू � अ�ययन साम�ी उपल�ध करवाई जाएगी ।Quality Study Material :

T पवू � �नधा�� रत समय-सारणी के अनसुार सभी क�ाओ ंका सचंालन ।

D  यह एक ऑफलाइन क�ा काय�� म ह ैजो हमार े सीकर एव ंजयपरु क� � पर सचंा�लत होगा ।Classroom Programme :-

D  परी�ा क� तयैारी Pre cum Mains Preparation(�ार�ं भक-सह- म�ुय परी�ा) के तहत 15 महीन � म �Course Duration :

करवाई जाएगी ।

T Final Tests: कोस � क� अव�ध म � स�पणू � पा��म पणू � होन ेके प�ात् �नय�मत Final Tests का आयोजन होगा ।

T इसी �कार म�ुय परी�ा क� द�� स ेसभी �� प�� के पा��म अनसुार मह�वपणू � टॉ�प�स को टा�क के �प म � तयैार ृ

करवाया जायगेा उदाहरणतः जसै ेम�ुय परी�ा के चतथु� पपेर : सामा�य �हदंी एव ंसामा�य अ�ंजेी म � सामा�य �हदंी म � श�द 

य�ुम,पयाय� वाची तथा सामा�य अ�ंजेी म � Antonyms ,One Words आ�द को टा�क के �प म � �व�ाथ� को �दए जायग�  े

एव ंयाद करवाया जायगेा �जसस े इन टॉ�प�स पर अ�छी पकड़ �वक�सत हो ।

T �ार�ं भक परी�ा क� द�� स ेपा��म अनसुार कुछ टॉ�प�स जसै े : राज�ान क� कला एव ंस�ंकृ�त म � शा�मल टॉ�प�स - ृ

�कल,े म�ंदर, महल, �च�कलाए,ं ह�त�श�प कला, लोक सगंीत, लोक ना�  आ�द ; राज�ान क� राज�यव�ा म � शा�मल 

टॉ�प�स - राज�ान लोक सवेा आयोग, रा�य मानवा�धकार आयोग, आ�द; रा�य सरकार क� �मखु योजनाए ंआ�द पर �� 

परी�ा म � अव�य ही पछेू जात ेह � ऐस े टॉ�प�स को ��त�दन टा�क के �प म � याद करवाया जायगेा ता�क �ार�ं भक परी�ा म �

आन ेवाल ेसभंा�वत �� आसानी स ेहल कर पाए ं ।

D Toppers Based Guidance Programme

उदाहरणत :

T कुछ मह�वपणू � �वषय आपको RAS 2016 एव ं2018 Toppers के मागद� शन�  म � पढ़ाय ेजायग�  ेजो परी�ा क� द�� स ेृ

अ�तमह�वपणू  � ह � एव ं �जनम े मागद� शन�  क� आव�यकता सामा�यतः �व�ाथ� �ारा महससू  क� जाती ह ै । 

T �नय�मत �प स ेक�ा म � आपको RAS Toppers स ेसवंाद करन ेका अवसर �दान कराया जायगेा ता�क उनके अनभुव� स े

लाभ उठाकर आप अपनी परी�ा म � सफलता स�ुन��त कर सक�  ।

D  इसके अतंगत�  पा��म म � शा�मल ऐस े Topics का चयन Task के �प म � �कया गया ह ैजो परी�ा क� Task Based Study :

द�� स ेअ�त मह�वपणू � ह ैएव ं �जनम े स ेपरी�ा म � �� अव�य पछेू जात ेह � । इन Task Topics क� �कृ�त �ार�ं भक एव ंम�ुय परी�ा ृ

के �लए अलग-अलग होगी �य��क �ार�ं भक परी�ा म � व�त�ुन� �कार के �� पछेू जात ेह � एव ंम�ुय परी�ा म � वणा�� मक �कार के 

�� हल करवाए जात ेह � ।

D Answer Writing Practice :

T Minor Tests : क�ा म � पढ़ाय ेगए पा��म का हर 12 �दन बाद एक Minor Test आयो�जत होगा । Minor Test म �

�ार�ं भक एव ंम�ुय परी�ा म � पछेू जान ेवाल े��� क� �कृ�त के अनसुार �� पछेू जायग�  ेएव ंअ�यास करवाया जायगेा । 

D Tri-Level Evaluation (��-�तरीय मू�याकं न)

D स�पणू � पा��म का �वषयवार सव�� �े टीम के मागद� शन�  म � अ�यापन करवाया जायगेा । 

T Major Tests : त�समय तक पढ़ाय ेगए स�पणू � पा��म के �र�वज़न हते ु��यके 3 Minor Tests के बाद एक Major 

Test का आयोजन होगा ।

D  फाउंडेशन कोस � क� समा�� के प�ात् भी �कसी �कार के मागद� शन�  एव ंम�ूया�न के Post Foundation Course Activity :

�लए छा�� स े �नरतं र जड़ुाव रखा जायगेा तथा समय-समय पर रणनी�तक प�रचचाए�  ंक� जाएगी ।

 म�ुय परी�ा म � 15 श�द 50 श�द एव ं100 श�द� म � वणा�� मक �कार के �� पछेू जात ेह � एव ंयह अप�ेा क� जाती ह ैक�

 आप का उ�र �प�, रचना�मक, उदाहराणय�ु हो । अतः �नय�मत �प स ेउ�र लखेन का अ�यास करवाया जायगेा। 

Important Features
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